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	 1.	 fuEufyf•r is'kokvksa ij fopkj dhft, rFkk bUgsa vkjksgh 
dkyØekuqlkj O;ofLFkr dhft, %

	 1.	 j?kqukFk jko (jk?kksck)
	 2.	 ckykth ckth jko
	 3.	 ukjk;.k jko
	 4.	 ckykth fo'oukFk
		 uhps fn, x, dwV esa ls lgh mÙkj pqfu, %
	 (a)	 4, 2, 3, 1
	 (b)	 3, 4, 1, 2
	 (c)	 1, 2, 3, 4
	 (d)	 1, 3, 2, 4
	 2.	 çkphu O;kikj ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj dhft,%
	 1.	 çkphu Hkkjr esa cgqr ls unh&cUnjxkg ds lanHkZ feyrs gSaA
	 2.	 ogk¡ lkeku vkSj ;krk;kr ds cM+s xksnke FksA

		 mi;ZqDr esa ls dkSu&lk@ls dFku lgh gS@gSa\
	 (a)	 1 vkSj 2 nksuksa
	 (b)	 u rks 1 u gh 2
	 (c)	 dsoy 1
	 (d)	 dsoy 2

	 3.	 caxky ds fuEufyf•r lsu 'kkldksa dks vkjksgh dkyØekuqlkj 
O;ofLFkr dhft, %

	 1.	 cYyky lsu
	 2.	 y{e.k lsu
	 3.	 gsear lsu
	 4.	 fot; lsu
		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 4, 3, 2, 1
	 (b)	 2, 1, 4, 3
	 (c)	 1, 2, 3, 4
	 (d)	 3, 4, 1, 2
	 4.	 cSje •k¡ ds lUnHkZ esa fuEufyf•r dFkuksa ij fopkj dhft, %
	 1.	 vdcj us cSje •k¡ dks •ku&,&•kuk dh mikfèk nhA
	 2.	 ;g mikfèk lkezkT; ds o”khj ds :i esa cSje •k¡ dh fu;qfDr 

ds le; ugha nh xbZA

		 mi;ZqDr esa ls dkSu&lk@ls dFku lgh gS@gSa\
	 (a)	 1 vkSj 2 nksuksa
	 (b)	 u rks 1 u gh 2
	 (c)	 dsoy 1
	 (d)	 dsoy 2

	 1. 	Consider the following Peshwas and arrange them in 
ascending chronological order:

	 1.	 Raghunath Rao (Raghoba)
	 2.	 Balaji Baji Rao 
	 3.	 Narayan Rao
	 4. 	Balaji Vishwanath 
		  Select the correct answer from the codes given below: 
	 (a)	 4, 2, 3, 1 
	 (b)	 3, 4, 1, 2 
	 (c)	 1, 2, 3, 4 
	 (d)	 1, 3, 2, 4 
	 2.	 Consider the following statements with reference to early 

trade: 
	 1.	 There are references of numerous river-ports in ancient 

India. 
	 2.	 There were large entrepots of goods and traffic. 
		  Which of the above statements is/are correct? 
	 (a)	 Both 1 and 2 
	 (b)	 Neither 1 nor 2
 	 (c)	 Only 1 
	 (d)	 Only 2 
	 3.	 Arrange the following Sen rulers of Bengal in ascending 

chronological order: 
	 1.	 Ballal Sen 
	 2.	 Lakshman Sen 
	 3.	 Hemant Sen 
	 4.	 Vijaya Sen 
		  Select the correct answer from the codes given below: 
	 (a)	 4, 3, 2, 1 
	 (b)	 2, 1, 4, 3 
	 (c)	 1, 2, 3, 4 
	 (d)	 3, 4, 1, 2 
	 4.	 Consider the following statements with reference to Bairam 

Khan: 
	 1. 	Akbar gave the title of Khan-i-Khana to Bairam Khan. 
	 2. 	This title was not given at the time of appointment of 

Bairam Khan as Vazir of Empire. 
		  Which of the above statements is/are correct? 
	 (a)	 Both 1 and 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1
	 (d)	 Only 2 
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	 5.	 2011 dh tux.kuk ds vuqlkj mudh tula[;k ds vkèkkj ij 
fuEufyf•r jkT;ksa dks vojksgh Øe esa fyf•;s %

	 1.	 fcgkj	
	 2.	 vkaèkz çns'k

	 3.	 mÙkj çns'k
	 4.	 if'pe caxky

		 fuEufyf•r dwV dh lgk;rk ls viuk lgh mÙkj pqfu, %
	 (a)	 3, 4, 1, 2
	 (b)	 1, 3, 2, 4
	 (c)	 1, 3, 4, 2
	 (d)	 3, 1, 4, 2

	 6.	 lwph-I dks lwph II ls lqesfyr dhft, vkSj lwfp;ksa ds uhps 
fn, x, dwV dk ç;ksx dj lgh mÙkj pqfu,%

		 lwph-I		  lwph-II
	 A.	 ekuo fodkl fjiksVZ	 1.	 vUrjkZ"Vªh; eqæk dks"k

	 B.	 fo'o vkfFkZd n`f"Vdks.k	 2.	 la;qDr jk"Vª i;kZoj.k 
dk;ZØe

	 C.	 fo'o fuos'k fjiksVZ	 3.	 la; qDr jk"V ª fodkl 
dk;ZØe

	 D.	 mRltZu vUrj fjiksVZ 	 4.	 O;kikj vkSj fodkl ij 
la;qDr jk"Vª lEesyu

		 dwV %
		  A	 B	 C	 D
	 (a)	 3	 1	 4	 2 
	 (b)	 3	 4	 1	 2
	 (c)	 1	 2	 3	 4
	 (d)	 2	 3	 4	 1

	 7.	 fuEufyf•r ?kVukvksa ij fopkj dhft, rFkk bUgsa lgh dkykuqØe 
esa O;ofLFkr dhft,] lcls igys ls ysdj vkf•jh xfrfofèk 
rd%

	 1.	 çèkkuea=kh xzkeksn; ;kstuk
	 2.	 xzkeh.k jkstxkj l`tu dk;ZØe

	 3.	 çèkkuea=kh jkstxkj ;kstuk
	 4.	 okYehfd] vEcsMdj vkokl ;kstuk

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 2, 3, 4, 1
	 (b)	 4, 2, 1, 3
	 (c)	 1, 2, 3, 4
	 (d)	 3, 2, 1, 4

	 8.	 fuEufyf•r lwfp;k¡ I vkSj II vFkZ'kkf=k;ksa@ys•dksa ds uke rFkk 
mudh iqLrdksa dks Øe'k% n'kkZrh gSaA lwph-I dks lwph-II ls 
lqesfyr dhft, vkSj lwfp;ksa ds uhps fn, x, dwV dk ç;ksx 
dj lgh mÙkj pqfu,%

	 5.	 Write in descending order the following States on the basis 
of their population as per Census, 2011: 

	 1. 	Bihar 
	 2. 	Andhra Pradesh 
	 3. 	Uttar Pradesh 
	 4.	 West Bengal 
		  Choose the correct answer with the help of the following 

codes: 
	 (a)	 3, 4, 1, 2 
	 (b)	 1, 3, 2, 4 
	 (c)	 1, 3, 4, 2 
	 (d)	 3, 1, 4, 2 
	 6.	 Match List-I with List-II and choose the correct answer 

using the codes given below the lists: 
		  List-I 		  List-II 
	 A.	 Human Development Report	 1. 	� I n t e r n a t i o n a l 

Monetary Fund 
	 B.	 World Economic Outlook 	 2.	� United Nat ions 

E n v i r o n m e n t 
Programme 

	 C.	 World Investment Report 	 3. 	� United Nat ions 
D e v e l o p m e n t 
Programme

	 D.	 Emissions Gap Report 	 4.	� United Nat ions 
Confe rence  on 
T r a d e  a n d 
Development 

	Codes: 
	 A	 B	 C	 D
	 (a)	 3	 1	 4	 2 
	 (b)	 3	 4	 1	 2
	 (c)	 1	 2	 3	 4
	 (d)	 2	 3	 4	 1

	 7.	 Consider the following events and arrange them in correct 
chronological order starting from the earliest to the last 
activity: 

	 1.	 Pradhan Mantri Gramodaya Yojana 
	 2.	 Rural Employment Generation Programme 
	 3.	 Prime Minister Rozgar Yojana 
	 4.	 Valmiki Ambedkar Awas Yojana 
		  Select the correct answer from the codes given below: 
	 (a)	 2, 3, 4, 1 
	 (b)	 4, 2, 1, 3 
	 (c)	 1, 2, 3, 4 
	 (d)	 3, 2, 1, 4 
	 8. 	The following lists I and II show the names of Economists/

Authors and their books respectively. Match List-1 with 
List-II and choose the correct answer using the codes given 
below the lists: 
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		 lwph-I		  lwph-II
		 (vFkZ'kk•h@ys•d)		  (iqLrd)
	 A.	 feMZy	 1.	� bdksukWfed F;ksjh ,aM 

vaMjMsoyIM jhtUl
	 B.	 fg'kZeSu	 2.	� n LVªSVsth vkWiQ bdksukWfed 

MsoyiesaV
	 C.	 dkYMj	 3.	� LVª SV sftd iQSDVlZ bu 

bdksukWfed MsoyiesaV
	 D.	 ,Me fLeFk	 4.	 n osYFk vkWiQ us'kUl

		 dwV %
		  A	 B	 C	 D
	 (a)	 1	 2	 3	 4
	 (b)	 2	 3	 1	 4
	 (c)	 3	 2	 1	 4
	 (d)	 2	 1	 3	 4

	 9.	 fuEufyf•r dFkuksa esa ls dkSu&lk ¶ikfjfLFkfrdh; fudsr¸ ds 
ckjs esa lgh ugha gS\

	 (a)	 çcy çtkfr;k¡ foLr`r ,oa O;kid ikfjfLFkfrdh; fudsr dks 
?ksjrh gSaA

	 (b)	 çkÑfrd ikfjfLFkfrd ra=k ds ikfjfLFkfrdh; fudsr esa ;fn 
lalkèku i;kZIr gSa] rks çtkfr;ksa dh vfèkd la[;k gks tkrh 
gSA

	 (c)	 ikfjfLFkfrdh; fudsr esa ;fn lalkèku i;kZIr gSa] rks çtkfr;ksa 
dh la[;k de gks tkrh gSA

	 (d)	 ;fn fdlh vkokl esa lalkèkuksa dk leku forj.k gksrk gS] 
rks ,dy çtkfr dk çHkqRo U;wure gks tkrk gSA

	 10.	 lwph-I dks lwph-II ls lqesfyr dhft;s vkSj lwfp;ksa ds uhps fn, 
x, dwV dk iz;skx dj lgh mÙkj pqfu;s%

		 lwph-I		  lwph-II
		 (thoeaMy fj”koZ)		  (jkT;)
	 A.	 fleyhiky	 1.	 dsjy
	 B.	 uksdjsd	 2.	 vksfM'kk
	 C.	 vxLR;eykbZ	 3.	 vle
	 D.	 ekul	 4.	 es?kky;

		 dwV %
		  A	 B	 C	 D
	 (a)	 1	 2	 4	 3
	 (b)	 3	 1	 4	 2
	 (c)	 2	 4	 3	 1
	 (d)	 2	 4	 1	 3

	 11.	 fuEufyf•r dFkuksa ij fopkj dhft,%
	 1.	 oSKkfud tk¡p O;kogkfjd vkn'kks± ds çfr çfrc¼rk ij 

fuHkZj djrh gSA
	 2.	 foKku esa bZekunkjh fo'ks"k :i ls egÙoiw.kZ gSA

		  List-I 		  List-II 
		  (Economist/Author)		  (Book)
	 A.	 Myrdal 	 1.	� Economic Theory and 

U n d e r - d e v e l o p e d 
Regions

	 B.	 Hirschman 	 2.	� T h e  S t r a t e g y  o f 
Economic Development 

	 C.	 Kaldor 	 3.	� Strategic Factors in 
Economic Development 

	 D.	 Adam Smith 	 4.	� The Wealth of Nations 
		  Codes: 	
	 A	 B	 C	 D

	 (a)	 1	 2	 3	 4

	 (b)	 2	 3	 1	 4

	 (c)	 3	 2	 1	 4

	 (d)	 2	 1	 3	 4

	 9.	 Which of the following statements is not true about 
"ecological niche"? 

	 (a)	 Dominant species occupy extensive and broader 
ecological niche. 

	 (b)	 Number of species becomes large in ecological niche 
of natural ecosystem, if resources are sufficient. 

	 (c)	 Number of species becomes small in ecological niche, 
if resources are sufficient. 

	 (d)	 Dominance of single species becomes minimum if the 
resource distribution is equitable in a habitat. 

	 10.	 Match List-I with List-II and choose the correct answer 
using the codes given below the lists: 

		  List-I 		  List-II 
		  (Biosphere Reserve) 		  (State) 
	 A.	 Simlipal 	 1.	 Kerala 
	 B.	 Nokrek 	 2.	 Odisha 
	 C.	 Agasthyamalai 	 3.	 Assam 
	 D.	 Manas 	 4.	 Meghalaya 
		  Codes: 
		  A	 B	 C	 D

	 (a)	 1	 2	 4	 3

	 (b)	 3	 1	 4	 2

	 (c)	 2	 4	 3	 1

	 (d)	 2	 4	 1	 3

	 11.	 Consider the following statements: 
	 1.	 Scientific investigation depends on commitment to 

practical ideals. 
	 2.	 Honesty is particularly important in science. 
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		 uhps fn, x, dwV esa ls lgh mÙkj pqfu, %
	 (a)	 nksuksa dFku 1 vkSj 2 lgh gSaA
	 (b)	 nksuksa dFku 1 vkSj 2 xyr gSaA
	 (c)	 dFku 1 lgh gS] 2 lgh ugha gSA
	 (d)	 dFku 1 lgh gS] 2 vçR;kf'kr gSA

	 12.	 fuEufyf•r esa ls dkSu&lk mPp ls fupys Øe esa ikSèkksa dh 
çtkfr;ksa dk lgh Øe gS\

	 (a)	 oxZ & la?k & x.k & ikni txr
	 (b)	 x.k & oxZ & la?k & ikni txr
	 (c)	 oxZ & ikni & txr & la?k x.k
	 (d)	 ikni txr & la?k & oxZ & x.k

	 13.	 tfLVl ikVhZ ds lUnHkZ esa fuEufyf•r dFkuksa ij fopkj dhft,%
	 1.	 tfLVl ikVhZ us dk¡xzsl dk fojksèk mls ,d czkã.k çHkqRo 

okyk laxBu dg dj fd;kA
	 2.	 blus xSj&czkã.kksa ds fy;s oSls gh lkEçnkf;d çfrfufèkRo 

dk nkok fd;k tSlk fd ekyZs&feaVks lqèkkj us eqlyekuksa dks 
fn;k FkkA

		 mi;ZqDr esa ls dkSu&lk@ls dFku lgh gS@gSa \
	 (a)	 1 vkSj 2 nksuksa
	 (b)	 u rks 1 u gh 2
	 (c)	 dsoy 1
	 (d)	 dsoy 2

	 14.	 odZlZ ,aM ihtsUV~l ikVhZ ds lUnHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft, %

	 1-	odZlZ ,aM ihtsUV~l ikVhZ dk xBu 1927 esa gqvk vkSj bls 
,d vf•y Hkkjrh; laxBu dk :i fn;k x;kA

	 2-	bl ikVhZ dk mís'; dk¡xzsl ds varxZr gh dke djuk Fkk 
ftlesa bldks vfèkd Økafrdkjh #>ku okyh ikVhZ vkSj vke 
turk dk laxBu cuk;k tk ldsA

		 mi;ZqDr esa ls dkSu&lk@ls dFku lgh gS@gSa\
	 (a)	 1 vkSj 2 nksuksa
	 (b)	 u rks 1 u gh 2
	 (c)	 dsoy 1
	 (d)	 dsoy 2

	 15.	 fuEufyf•r ?kVukvksa ij fopkj dhft, rFkk bUgsa dkykuqØe esa 
O;ofLFkr dhft,%

	 1.	 bZLV bafM;k ,lksfl,'ku
	 2.	 us'kuy bafM;u ,lksfl,'ku
	 3.	 bafM;u lkslk;Vh
	 4.	 bafM;u ,lksfl,'ku

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 1, 2, 4, 3
	 (b)	 1, 3, 2, 4
	 (c)	 2, 1, 4, 3
	 (d)	 1, 2, 3, 4

		  Select the correct answer from the codes given below: 
	 (a)	 Both statements 1 and 2 are correct. 
	 (b)	 Both statements 1 and 2 are incorrect. 
	 (c)	 Statement 1 is correct, 2 is not correct. 
	 (d)	 Statement 1 is correct, 2 is unpredictable. 
	 12.	 Which of the following is the correct order of plant species 

from higher to lower order? 
	 (a)	 Class – Phylum – Order – Plant Kingdom
 	 (b)	 Order – Class – Phylum – Plant Kingdom 
	 (c)	 Class – Plant Kingdom – Phylum – Order
 	 (d)	 Plant Kingdom – Phylum – Class – Order 
	 13. 	Consider the following statements with reference to the 

Justice Party: 
	 1.	 The Justice Party opposed Congress by calling it a 

Brahmin dominated organisation. 
	 2. 	It claimed the same communal representation for non-

Brahmins as the Morley-Minto reforms had given to 
Muslims. 

		  Which of the above statements is/are correct? 
	 (a)	 Both 1 and 2 
	 (b)	 Neither I nor 2
	 (c)	 Only 1 
 	 (d)	 Only 2 
	 14. 	Consider the following statements with reference to the 

Workers and Peasants Party: 
	 1. 	The Workers and Peasants Party was formed in 1927 

and was given the form of an All India Organisation. 
	 2.	 The objective of this party was to work within the 

Congress so that it could be made a more revolution 
inclined party and an organisation of the common 
people. 

		  Which of the above statements is/are correct? 
	 (a)	 Both 1 and 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1 
	 (d)	 Only 2 
	 15. 	Consider the following events and arrange them in 

chronological order : 
	 1. 	East India Association 
	 2. 	National Indian Association 
	 3. 	Indian Society 
	 4. 	Indian Association 
		  Select the correct answer from the codes given below: 
	 (a)	 1, 2, 4, 3 
	 (b)	 1, 3, 2, 4 
	 (c)	 2, 1, 4, 3 
	 (d)	 1, 2, 3, 4 
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	 16.	 fuEufyf•r ?kVukvksa ij fopkj dhft, rFkk bUgsa lgh dkykuqØe 

esa O;ofLFkr dhft,] lcls igys ls ysdj vkf•jh xfrfofèk 

rd%

	 1.	 'kkgh Hkkjrh; ukSlsuk foæksg

	 2.	 dSfcusV fe'ku dh ?kks"k.kk

	 3.	 varfje ljdkj dk xBu

	 4.	 fczfV'k lalnh; çfrfufèkeaMy dk fnYyh esa vkxeu

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu, %
	 (a)	 4, 3, 2, 1
	 (b)	 4, 1, 2, 3
	 (c)	 4, 2, 1, 3
	 (d)	 2, 4, 1, 3

	 17.	 lgefr dh vk;q vfèkfu;e] 1891 ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 ;g cacbZ ds ,d ikjlh lqèkkjd] csgjketh ekykckjh Fks] 

ftUgksaus bl dkuwu dh odkyr dh FkhA

	 2.	 bl vfèkfu;e dks cky xaxkèkj fryd ds usr`Ro okyh 

pjeiaFkh 'kk[kk us leFkZu fn;k FkkA

		 mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSaa\

	 (a)	 dsoy 2	 (b)	 u rks 1 u gh 2

	 (c)	 dsoy 1	 (d)	 1 vkSj 2 nksuksa

	 18.	 uhps nks dFku fn, x, gSa] ftuesa ls ,d dks vfHkdFku (A) 
rFkk nwljs dks dkj.k (R) dgk x;k gSA

		 vfHkdFku (A) % f'kokth dks cM+s ns'keq•ksa ds fojksèk dk lkeuk 

djuk iM+kA

		 dkj.k (R) % ;s ns'keq• Lora=k ejkBk jkT; ds i{k esa ugha Fks 

vkSj chtkiqj ds lkear gh cus jguk pkgrs FksA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%

	 (a)	 (A) vkSj (R) nksuksa lgh gSa vkSj (R)] (A) dh lgh O;k[;k 

djrk gSA

	 (b)	 (A) xyr gS] fdUrq (R) lgh gSA

	 (c)	 (A) vkSj (R) nksuksa lgh gSa] fdUrq (R)] (A) dh lgh 

O;k[;k ugha djrk gSA

	 (d)	 (A) lgh gS] fdUrq (R) xyr gSA

	 19.	 vaMeku rFkk fudksckj }hilewg esa fuEufyf•r esa ls fdl dkj.k 

ls çy;dkjh çoky fojatu gqvk rFkk çokyksa dh lkewfgd e`R;q 

gks xbZ Fkh\

	 (a)	 rVh; {ks=kksa esa vkS|ksfxd xfrfofèk;ksa esa o`f¼

	 (b)	 fgUn egklkxj ds rkieku esa 2°C dh o`f¼

	 (c)	 Hkkjh lkxjh; çnw"k.k

	 (d)	 fgUn egklkxj ds rkieku esa 4°C dh de

	 16. 	Consider the following events and arrange them in correct 
chronological order starting from the earliest to the last 
activity: 

	 1. 	Royal Indian Navy Revolt 
	 2. 	Announcement of Cabinet Mission 
	 3. 	Formation of Interim Government 
	 4. 	Arrival of a UK Parliamentary Delegation in Delhi 

	Select the correct answer from the codes given below: 
	 (a)	 4, 3, 2, 1 
	 (b)	 4, 1, 2, 3 
	 (c)	 4, 2, 1, 3 
	 (d)	 2, 4, 1, 3 

	 17. 	With reference to the Age of Consent Act, 1891 consider 
the following statements: 

	 1. 	It was Behramji Malabari, a Parsi reformer from 
Bombay, who advocated for this legislation. 

	 2.	 The Act was supported by the extremist wing led by 
Bal Gangadhar Tilak. 

		  Which of the above statements is/are correct? 
	 (a)	 Only 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1 
	 (d)	 Both 1 and 2 

	 18.	 Given below are two statements, one is labelled as Assertion 
(A) and the other as Reason (R).

		  Assertion (A): Shivaji had to face opposition from the big 
Deshmukhs. 

		  Reason (R): These Deshmukhs were not in favour of an 
independent Maratha State and wanted to remain as feudal 
lords of Bijapur. 

		  Select the correct answer from the codes given below: 
	 (a)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
	 (b)	 (A) is false, but (R) is true. 
	 (c)	 Both (A) and (R) are true, but (R) is not the correct 

explanation of (A). 
	 (d)	 (A) is true, but (R) is false. 

	 19.	 Which of the following reasons caused catastrophic coral 
bleaching and mass coral deaths in the Andaman and 
Nicobar Islands? 

	 (a)	 Increased industrial activities in the coastal regions 
	 (b)	 Increase of 2°C temperature in the Indian Ocean 
	 (c)	 Heavy marine pollution 
	 (d)	 Decrease of temperature by 4°C in the Indian Ocean 
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	 20.	 v'kksd ds lUnHkZ esa fuEufyf•r dFkuksa ij fopkj dhft,%
	 1.	 v'kksd us èkEe dh tks ifjHkk"kk nh gS] og ¶jkgqyksoknlqÙk¸ 

ls yh xbZ gSA
	 2.	 vius jkT;kfHk"ksd ds 14osa o"kZ esa v'kksd us èkEeegkek=k 

uked ,d uohu çdkj ds deZpkjh dh fu;qfDr dhA

		 mi;ZqDr esa ls dkSu&lk@ls dFku lgh gS@gSa\
	 (a)	 1 vkSj 2 nksuksa
	 (b)	 u rks 1 u gh 2
	 (c)	 dsoy 1
	 (d)	 dsoy 2

	 21.	 fuEufyf•r esa ls dkSu&lk ,d lgh lqesfyr ugha gS\
	 (a)	 vuqPNsn 153 & jkT;iky dk in
	 (b)	 vuqPNsn 154 & jkT;iky dk dk;Zdkjh çkfèkdkj
	 (c)	 vuqPNsn 155 & jkT;iky dks gVkuk
	 (d)	 vuqPNsn 156 & jkT;iky dh inkofèk (VeZ)

	 22.	 Hkkjr ds lafoèkku esa fuEufyf•r esa ls D;k dfFkr gS@gSa \
	 1.	 jk"Vªifr laln ds fdlh Hkh lnu dk lnL; ugha gksxkA
	 2.	 laln jk"Vªifr vkSj nksuksa lnuksa ls feydj cusxhA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 1 vkSj 2 nksuksa
	 (b)	 dsoy 2
	 (c)	 u rks 1 u gh 2
	 (d)	 dsoy 1

	 23-	fuEufyf•r dFku ij fopkj dhft,%

		 Hkkjrh; lafoèkku esa dksbZ la'kksèku ykus dk miØe fd;k tk 
ldrk gS%

	 1.	 yksd lHkk }kjk
	 2.	 jkT; lHkk }kjk
	 3.	 jkT; foèkku&eaMyksa }kjk
	 4.	 Hkkjr ds jk"Vªifr }kjk

		 mi;ZqDr esa ls esa ls dkSu&lk@ls dFku lgh lgh gS@gSa\
	 (a)	 1] 2 vkSj 3
	 (b)	 1 vkSj 2
	 (c)	 dsoy 1
	 (d)	 2] 3 vkSj 4

	 24.	 Hkkjr ds fuokZpu vk;qDr ds fuEufyf•r esa ls dkSu&ls dk;Z 
gSa\

	 1.	 yksd lHkk ds vè;{k vkSj mikè;{k rFkk jkT; lHkk ds 
milHkkifr ds inksa ds fy;s fuokZpu djokukA

	 2.	 uxj ikfydkvksa vkSj uxj fuxeksa ds fy;s fuokZpu djokukA
	 3.	 mi;ZqDr fuokZpu ls mRiUu lHkh lansgksa vkSj fooknksa dk 

fu.kZ;uA

	 20.	 Consider the following statements with respect to Ashoka: 
	 1. 	The definition of Dhamma given by Ashoka is taken 

from "Rahulovada-sutta". 
	 2.	 In the 14th year of his coronation, Ashoka appointed 

a new type of staff, called Dhamma-mahamatras. 
		  Which of the above statements is/are correct? 
	 (a) 	Both 1 and 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1 
	 (d)	 Only 2 
	 21.	 Which one of the following is not correctly matched? 
	 (a)	 Article 153	 –	 �Office of the Governor 
	 (b)	 Article 154	 –	� Executive Authority of 

the Governor  
	 (c)	 Article 155 	 –	� R e m o v a l  o f  t h e 

Governor 
	 (d)	 Article 156 	 –	� Term of the Governor 
	 22.	 Which of the following is/are stated in the Constitution of 

India? 
	 1.	 The President shall not be a member of either of the 

Houses of the Parliament. 
	 2.	 The Parliament shall consist of the President and both 

Houses. 
		  Select the correct answer from the codes given below: 
	 (a)	 Both 1 and 2 
	 (b)	 Only 2 
	 (c)	 Neither 1 nor 2 
	 (d)	 Only 1 
	 23.	 Consider the following statements: 

�An Amendment to the Constitution of India can be initiated 
by the: 

	 1.	 Lok Sabha 
	 2.	 Rajya Sabha 
	 3.	 State Legislatures
	 4. 	President of India 
		  Which of the above statements is/are correct? 
	 (a)	 1, 2 and 3 
	 (b)	 1 and 2 
	 (c)	 Only 1 
	 (d)	 2, 3 and 4 
	 24.	 Which of the following are the functions of the Election 

Commissioner of India? 
	 1.	 Conduct of elections for the posts of the Speaker and 

the Deputy Speaker of the Lok Sabha and Deputy 
Chairman of the Rajya Sabha. 

	 2.	 Conduct of elections of the Municipal Corporations 
and Municipalities. 

	 3.	 Deciding on all doubts and disputes arising out of the 
above elections. 



7

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 2 vkSj 3

	 (b)	 1 vkSj 2

	 (c)	 1 vkSj 3

	 (d)	 mi;ZqDr esa ls dksbZ ugha

	 25.	 fuEufyf•r esa ls dkSu&lk ,d lgh lqesfyr ugha gS\
	 (a)	 th-oh-ds- jko lfefr	 &	 ç•aM Lrj ij fu;kstu

	 (b)	 narokyk lfefr	 &	 xzkeh.k ½.k

	 (c)	 lUFkkue lfefr	 &	 iapk;rh jkT; foÙk

	 (d)	 v'kksd esgrk lfefr	 &	 iapk;rh jkt laLFkk,¡

	 26.	 fuEufyf[kr esa ls dkSu&lk tSfod vuqozQe dh izkoLFkkvksa dk 
lgh ozQe gS\

	 (a)	 vkLFkkiu & izokl & izfrfozQ;k & fLFkjhdj.k

	 (b)	 vkLFkkiu & izokl & fLFkjhdj.k & izfrfozQ;k

	 (c)	 izokl & izfrfozQ;k & fLFkjhdj.k & vkLFkkiu

	 (d)	 izokl & vkLFkkiu & izfrfozQ;k & fLFkjhdj.k

	 27.	 uhps nks dFku fn, x, gSa] ftuesa ls ,d dks vfHkdFku (A) 
rFkk nwljs dks dkj.k (R) dgk x;k gSA

		 vfHkdFku (A): lkisf{kd vknzZrk ok;q ds rkieku esa o`f¼ ds 
lkFk ?kVrh gSA

		 dkj.k (R): ok"ihdj.k esa o`f¼ ds lkFk fujis{k vknZzrk esa o`f¼ 
gksrh gSA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 (A) vkSj (R) nksuksa lgh gSa] fdarq (R)] (A) dh lgh O;k[;k 

ugha djrk gSA

	 (b)	 (A) xyr gS] fdUrq (R) lgh gSA
	 (c)	 (A) vkSj (R) nksuksa lgh gSa vkSj (R)] (A) dh lgh O;k[;k 

djrk gSA

	 (d)	 (A) lgh gS] fdUrq (R) xyr gSA

	 28.	 fuEufyf•r esa ls dkSu&lk lgh lqesfyr gS\
	 (a)	 bdksDykbu & tSo&fofoèkrk

	 (b)	 ikbDuksDykbu & lkxjh; ty ?kuRo 
	 (c)	 FkekZsDykbu & ok;q dk rkieku

	 (d)	 gSyksDykbu & lkxjh; ty rkiek

	 29.	 lwph-I dks lwph-II ls lqesfyr dhft;s vkSj lwfp;ksa ds uhps fn, 
x, dwV dk iz;skx dj lgh mÙkj pqfu;s%

		 lwph-I		  lwph-II
	 A.	 ikSèkkjksi.k 'kkyk	 1.	 gaxjh
	 B.	 ozQk;ksiQkbV LVsih	 2.	 ,MksYiQ ,axyj
	 C.	 fo'o ds iq"ih; {ks=k	 3.	 lh-vks- lkoj

	 D.	 iqLtrk ?kkl eSnku	 4.	 vkdZfVd VqaMªk

		  Select the correct answer from the codes given below: 
	 (a)	 2 and 3 
	 (b)	 1 and 2 
	 (c)	 1 and 3 
	 (d)	 None of the above 

	 25.	 Which one of the following is not correctly matched? 
	 (a)	 G.V.K. Rao Committee	 –	� Planning at the Block 

Level
	 (b)	 Dantwala Committee	 –	 Rural Credit
	 (c)	 Santhanam Committee	 –	 Panchayati Raj Finances 
	 (d)	 Ashok Mehta Committee	 –	� P a n c h a y a t i  R a j 

Institutions 

	 26.	 Which of the following is the correct sequence of phases 
of Biotic succession? 

	 (a)	 Ecesis - Migration - Reaction – Stabilisation
 	 (b)	 Ecesis - Migration - Stabilisation – Reaction
 	 (c)	 Migration-Reaction - Stabilisation - Ecesis 
	 (d)	 Migration-Ecesis- Reaction - Stabilisation 

	 27.	 Given below are two statements, one is labelled as Assertion 
(A) and the other as Reason (R). 

	Assertion (A): Relative humidity decreases with increasing air 
temperature. 

	Reason (R): Absolute humidity increases with increasing 
evaporation. 

	Select the correct answer from the codes given below:
	 (a)	 Both (A) and (R) are true, but (R) is not the correct 

explanation of (A). 
	 (b)	 (A) is false, but (R) is true. 
	 (c)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A). 
	 (d)	 (A) is true, but (R) is false. 

	 28.	 Which one of the following is correctly matched? 
	 (a)	 Ecocline	 –	 Biodiversity 
	 (b)	 Pycnocline	 –	 Sea water density 
	 (c)	 Thermocline 	 –	 Air temperature 
	 (d)	 Halocline 	 –	 Sea water temperature

	 29.	 Match List-I with List-II and choose the correct answer 
using the codes given below the lists: 

	 List-I 	List-II 
	 A.	 Planting Hearth 	 1.	 Hungary 
	 B.	 Cryophyte Steppe 	 2.	 Adolf Engler 
	 C. 	World Floral Regions 	 3.	 C.O. Sauer 
	 D.	 Puszta Grassland 	 4.	 Arctic Tundra 
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		 dwV %
		  A	 B	 C	 D
	 (a)	 4	 3	 2	 1
	 (b)	 3	 4	 2	 1
	 (c)	 3	 4	 1	 2
	 (d)	 1	 2	 3	 4

	 30.	 fuEufyf•r ;qXeksa (,syqfefu;e la;a=k jkT;) esa ls dkSu&lk lgh 
lqesfyr ugha gS\

	 (a)	 vyqiqje (vyok;)	 &	dsjy
	 (b)	 csyxkoh	 &	dukZVd
	 (c)	 eqjh	 &	 NÙkhlx<+
	 (d)	 ghjkdqaM	 &	vksfM'kk

	 31.	 fuEufyf•r ;qXeksa (jk"Vªh; m|ku jkT;@la?k jkT; {ks=k) esa ls 
dkSu&lk lgh lqesfyr ugha gS\

	 (a)	 jktkth	 &	 mÙkjk•aM
	 (b)	 fiu oSyh	 &	 tEew ,oa d'ehj
	 (c)	 ckanhiqj	 &	dukZVd
	 (d)	 fleyhiky	 &	vksfM'kk

	 32.	 uhps nks dFku fn, x, gSa] ftuesa ls ,d dks vfHkdFku (A) 
rFkk nwljs dks dkj.k (R) dgk x;k gSA

		 vfHkdFku (A): fgeky; vHkh Hkh mQ¡pk gks jgk gSA

		 dkj.k (R): Hkkjrh; VsDVksfud IysV ;wjsf'k;u IysV ls Vdjk jgh 
gSA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 (A) vkSj (R) nksuksa lgh gSa] fdarq (R)] (A) dh lgh O;k[;k 

ugha djrk gSA
	 (b)	 (A) xyr gS] fdUrq (R) lgh gSA
	 (c)	 (A) vkSj (R) nksuksa lgh gSa vkSj (R)] (A) dh lgh O;k[;k 

djrk gSA
	 (d)	 (A) lgh gS] fdUrq (R) xyr gSA

	 33.	 lwph-I dks lwph-II ls lqesfyr dhft;s vkSj lwfp;ksa ds uhps fn, 
x, dwV dk iz;skx dj lgh mÙkj pqfu;s%

		 lwph-I		  lwph-II
		 (dks;yk HkaMkj)		  (jkT;)
	 A.	 gqrj	 1.	 eè; izns'k
	 B.	 bc unh	 2.	 NÙkhlx<+
	 C.	 rkrkikuh & jkedksyk	 3.	 vksfM'kk
	 D.	 mefj;k	 4.	 >kj[kaM

		 dwV %
		  A	 B	 C	 D
	 (a)	 3	 2	 4	 1
	 (b)	 2	 1	 3	 4
	 (c)	 4	 3	 2	 1
	 (d)	 4	 2	 3	 1

		  Codes:
		  A	 B	 C	 D

	 (a)	 4	 3	 2	 1

	 (b)	 3	 4	 2	 1

	 (c)	 3	 4	 1	 2

	 (d)	 1	 2	 3	 4

	 30. 	Which one of the following pairs (Aluminium Plant – State) 
is not correctly matched? 

	 (a)	 Alupuram (Alwaye)	 –	 Kerala 
	 (b)	 Belagavi 	 –	 Karnataka 
	 (c)	 Muri 	 –	 Chhattisgarh 
	 (d)	 Hirakud 	 –	 Odisha 
	 31.	 Which of the following pairs (National Park State/Union 

Territory) is not correctly matched? 
	 (a)	 Rajaji 	 –	 Uttarakhand 
	 (b)	 Pin Valley	 –	 Jammu and Kashmir 
	 (c)	 Bandipur 	 –	 Karnataka 
	 (d)	 Simlipal	 –	 Odisha 
	 32.	 Given below are two statements, one is labelled as Assertion 

(A) and the other as Reason (R). 
	Assertion (A): The Himalayas are still rising. 
	Reason (R): The Indian tectonic plate is colliding with the 

Eurasian plate. 
	Select the correct answer from the codes given below:
 	 (a)	 Both (A) and (R) are true, but (R) is not the correct 

explanation of (A). 
	 (b)	 (A) is false, but (R) is true. 
	 (c)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A). 
	 (d)	 (A) is true, but (R) is false. 
	 33.	 Match List-I with List-II and choose the correct answer 

using the codes given below the lists: 	
		  List-I 		  List-II 
		  (Coal Resources) 		  (States) 
	 A.	 Hutar 	 1.	 Madhya Pradesh 
	 B.	 Ib River 	 2.	 Chhattisgarh 
	 C.	 Tatapani-Ramkola 	 3.	 Odisha 
	 D.	 Umaria 	 4.	 Jharkhand 
		  Codes: 
		  A	 B	 C	 D

	 (a)	 3	 2	 4	 1

	 (b)	 2	 1	 3	 4

	 (c)	 4	 3	 2	 1

	 (d)	 4	 2	 3	 1
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	 34.	 lwph-I dks lwph-II ls lqesfyr dhft;s vkSj lwfp;ksa ds uhps fn, 
x, dwV dk iz;skx dj lgh mÙkj pqfu;s%

		 lwph-I		  lwph-II
		 (ugjsa)		  (ufn;k¡)
	 A.	 mQijh ckjh nksvkc ugj	 1.	 lryqt
	 B.	 ljfgan ugj	 2.	 ;equk
	 C.	 xqM+xk¡o ugj	 3.	 lryqt] jkoh] C;kl
	 D.	 bfUnjk xk¡èkh ugj	 4.	 jkoh
		 dwV %
		  A	 B	 C	 D
	 (a)	 4	 1	 3	 2
	 (b)	 3	 2	 1	 4
	 (c)	 4	 1	 2	 3
	 (d)	 3	 1	 2	 4

	 35.	 fuEufyf•r ;qXeksa (iQly&fo'ks"krk) esa ls dkSu&lk lgh lqesfyr 
ugha gS\

	 (a)	 ,d o"kZ esa pkoy dh rhu	 &	 if'pe caxky
		 iQlysa iSnk djus okyk jkT;
	 (b)	 pkoy mRiknu esa fcgkj dk 	 &	 15.7%
		 ;ksxnku
	 (c)	 pkoy mRiknu ds vèkhu	 &	 mÙkj çns'k
		 lokZfèkd {ks=kiQy okyk jkT;
	 (d)	 pkoy mRiknu dh if'peh lhek	 &	 100 lseh
		 fuèkkZfjr djus okyh leo"kkZ js•k

	 36.	 dikl iQlyksa ds lUnHkZ esa fuEufyf•r dFkuksa ij fopkj dhft,%
	 1.	 dikl eq[;r% •jhiQ iQly gSA
	 2.	 dikl ds mRiknu ds fy;s okf"kZd 50 ls 75 lseh dh 

eè;e o"kkZ dh vko';drk gksrh gSA

		 mi;ZqDr esa ls dkSu&lk@ls dFku lgh gS@gSa\
	 (a)	 1 vkSj 2 nksuksa
	 (b)	 u rks 1 u gh 2
	 (c)	 dsoy 1
	 (d)	 dsoy 2

	 37.	 uhps nks dFku fn, x, gSa] ftuesa ls ,d dks vfHkdFku (A) 
rFkk nwljs dks dkj.k (R) dgk x;k gSA

		 vfHkdFku (A)% yky e`nk] Hkkjr ds nwljs lcls cM+s e`nk lewg 
dks n'kkZrh gSA

		 dkj.k (R)% yky e`nk] dkyh e`nk dks nf{k.k] iwoZ vkSj mÙkj 
fn'kkvksa ls ?ksjs gq, gSA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 (A) vkSj (R) nksuksa lgh gSa vkSj (R)] (A) dh lgh O;k[;k 

djrk gSA
	 (b)	 (A) xyr gS] fdUrq (R) lgh gSA
	 (c)	 (A) vkSj (R) nksuksa lgh gSa] fdUrq (R)] (A) dh lgh 

O;k[;k ugha djrk gSA
	 (d)	 (A) lgh gS] fdUrq (R) xyr gSA

	 34. 	Match List-1 with List-II and choose the correct answer 
using the codes given below the lists: 

		  List-I 		  List-II
		  (Canals) 	  	 (Rivers) 
	 A.	 Upper Bari Doab Canal	 1.	 Sutlej 
	 B.	 Sirhind Canal 	 2.	 Yamuna 
	 C.	 Gurgaon Canal 	 3.	 Sutlej, Ravi, Beas 
	 D.	 Indira Gandhi Canal 	 4.	 Ravi 
		  Codes: 
	 A	 B	 C	 D
	 (a)	 4	 1	 3	 2
	 (b)	 3	 2	 1	 4
	 (c)	 4	 1	 2	 3
	 (d)	 3	 1	 2	 4

 	 35. 	Which one of the following pairs (Crop - Peculiarity) is 
not correctly matched? 

	 (a)	 State where rice is grown
		  three times in a year 	 –	 West Bengal 
	 (b)	 Bihar's contribution to
		  rice production 	 –	 15.7% 
	 (c)	 State with largest area
		  under rice production	 –	 Uttar Pradesh 
	 (d)	 Isohyets that decide western
		   limit of rice production	 –	 100 cm 
	 36.	 Consider the following statements with reference to cotton 

crops: 
	 1.	 Cotton is mostly a Kharif crop. 
	 2.	 Cotton crop requires moderate amounts of rainfall 

varying between 50–75 cm annually.
		  Which of the above statements is/are correct? 
	 (a)	 Both 1 and 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1 
	 (d)	 Only 2 
	 37.	 Given below are two statements, one is labelled as Assertion 

(A) and the other as Reason (R). 
		  Assertion (A): Red soil denotes the second largest soil 

group of India. 
		  Reason (R): Red soil surrounds the black soil in the south, 

east and north directions. 
		  Select the correct answer from the codes given below:
 	 (a)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A). 
	 (b)	 (A) is false, but (R) is true. 
	 (c)	 Both (A) and (R) are true, but (R) is not the correct 

explanation of (A). 
	 (d)	 (A) is true, but (R) is false. 
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	 38.	 lwph-I dks lwph-II ls lqesfyr dhft;s vkSj lwfp;ksa ds uhps fn, 
x, dwV dk iz;skx dj lgh mÙkj pqfu;s%

		 lwph-I		  lwph-II
		 ('kgj dk uke)		  (;kstuk cu, tkus dh 

vofèk)
	 A.	 dk¡phiqje	 1.	 Lora=;ksÙkj dky
	 B.	 tSlyesj	 2.	 vkSifuosf'kd dky
	 C.	 dksMkbZduky	 3.	 eè;dky
	 D.	 fHkykbZ	 4.	 izkphu dky

		 dwV %
		  A	 B	 C	 D
	 (a)	 2	 3	 4	 1
	 (b)	 4	 3	 2	 1
	 (c)	 1	 2	 3	 4
	 (d)	 3	 4	 1	 2

	 39.	 lwph-I dks lwph-II ls lqesfyr dhft;s vkSj lwfp;ksa ds uhps fn, 
x, dwV dk iz;skx dj lgh mÙkj pqfu;s%

		 lwph-I		  lwph-II
		 (izfl¼ LFkkuh; rwiQku)		  (LFkku@{ks=k)
	 A.	 vkez o"kkZ	 1.	 iatkc ls fcgkj rd
	 B.	 iwQyksa okyh ckSNkj	 2.	 dsjy
	 C.	 dky&cS'kk[kh	 3.	 rVh; dukZVd {ks=k
	 D.	 yw	 4.	 if'pe caxky

		 dwV %
		  A	 B	 C	 D
	 (a)	 3	 2	 1	 4
	 (b)	 4	 1	 3	 2
	 (c)	 3	 2	 4	 1
	 (d)	 1	 3	 2	 4

	 40.	 fuEufyf•r esa ls dkSu&lk ;qXe lgh lqesfyr ugha gS\
		 jktèkkuh		  ns'k
	 (a)	 uk,I;hMkW	 &	 E;k¡ekj
	 (b)	 [kkrwZe	 &	 ,Fkksfi;k
	 (c)	 Mcfyu	 &	vk;jySaM
	 (d)	 vksVkok	 &	dukMk

	 41.	 Åijh xaxk ds eSnkuh Ñf"k tyok;q {ks=k ds lUnHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft,%

	 1-	;g {ks=k dsUæh; vkSj if'peh mÙkj çns'k esa foLr`r gSA
	 2-	bl {ks=k esa flapkbZ xgurk 130» ls vfèkd rFkk Ñf"k xgurk 

140» gSA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu, %
	 (a)	 1 vkSj 2 nksuksa
	 (b)	 u rks 1 u gh 2
	 (c)	 dsoy 1
	 (d)	 dsoy 2

	 38.	 Match List-I with List-II and choose the correct answer 
using the codes given below the lists: 

		  List-I 	 List-II 
		  (Name of the City) 	(Period of being Planned) 
	 A.	 Kanchipuram 	 1.	 Post-independence 
	 B.	 Jaisalmer 	 2.	 Colonial Period 
	 C.	 Kodaikanal 	 3.	 Medieval Period 
	 D.	 Bhilai 	 4.	 Ancient Period 
		  Codes: 	
		  A	 B	 C	 D
	 (a)	 2	 3	 4	 1
	 (b)	 4	 3	 2	 1
	 (c)	 1	 2	 3	 4
	 (d)	 3	 4	 1	 2

	 39.	 Match List-I with List-II and choose the correct answer 
using the codes given below the lists: 

		  List-I 	 List-II 
		  (Famous Local Storm)	(Place/Area) 
	 A.	 Mango shower	 1.	 Punjab to Bihar 
	 B.	 Blossom shower	 2.	 Kerala 
	 C.	 Norwesters	 3.	 Karnataka Coastal Areas 
	 D.	 Loo	 4.	 West Bengal 
		  Codes: 
		  A	 B	 C	 D
	 (a)	 3	 2	 1	 4
	 (b)	 4	 1	 3	 2
	 (c)	 3	 2	 4	 1
	 (d)	 1	 3	 2	 4

	 40.	 Which of the following pairs is not correctly matched? 
		  Capital 		  Country
	 (a)	 Naypyidaw	 -	 Myanmar  
	 (b)	 Khartoum	 -	 Ethiopia 
	 (c)	 Dublin	 -	 Ireland 
	 (d)	 Ottawa 	 -	 Canada 
	 41.	 Consider the following statements with reference to Upper 

Gangetic agro-climatic region: 
	 1.	 This region encompasses central and western Uttar 

Pradesh. 
	 2.	 This region has more than 130% irrigation intensity 

and 140% cropping intensity. 
		  Which of the above statements is/are correct? 
	 (a)	 Both 1 and 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1 
	 (d)	 Only 2 
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	 42.	 lwph-I dks lwph-II ls lqesfyr dhft;s vkSj lwfp;ksa ds uhps fn, 
x, dwV dk iz;skx dj lgh mÙkj pqfu;s%

		 lwph-I		  lwph-II
		 (njkZ)		  (leqnz ry ls mQ¡pkbZ)
	 A.	 nsclk	 1.	 5360 ehVj
	 B.	 jksgrkax	 2.	 4850 ehVj
	 C.	 ckjk ykpk	 3.	 3978 ehVj
	 D.	 cfugky	 4.	 2832 ehVj

		 dwV %
		  A	 B	 C	 D
	 (a)	 1	 3	 2	 4
	 (b)	 3	 1	 2	 4
	 (c)	 1	 4	 2	 3
	 (d)	 3	 1	 4	 2

	 43.	 uhps nks dFku fn, x, gSa] ftuesa ls ,d dks vfHkdFku (A) 
rFkk nwljs dks dkj.k (R) dgk x;k gSA

		 vfHkdFku (A) % twV Hkkjr dk fo'kq¼ ikSèkk gSA

		 dkj.k (R)% twV [kjhiQ dh iQly gS] ftls iQjojh ls twu esa 
cks;k tkrk gS rFkk tqykbZ ls vDVwcj ds eè; dkVk tkrk gSA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 (A) vkSj (R) nksuksa lgh gSa vkSj (R)] (A) dh lgh O;k[;k 

djrk gSA
	 (b)	 (A) xyr gS] fdUrq (R) lgh gSA
	 (c)	 (A) vkSj (R) nksuksa lgh gSa] fdUrq (R)] (A) dh lgh 

O;k[;k ugha djrk gSA
	 (d)	 (A) lgh gS] fdUrq (R) xyr gSA

	 44.	 lwph-I dks lwph-II ls lqesfyr dhft;s vkSj lwfp;ksa ds uhps fn, 
x, dwV dk iz;skx dj lgh mÙkj pqfu;s%

		 lwph-I		  lwph-II
		 (fucaèkdkj)		  (fucaèk)
	 A.	 nso.k HkV~V	 1.	 nku lkxj
	 B.	 gsekfnz	 2.	 ijk'kj ekèko
	 C.	 ekèkokpk;Z	 3.	 prqoxZxZ fparkef.k
	 D.	 cYyky lsu	 4.	 Le`fr pfUnzdk

		 dwV %
		  A	 B	 C	 D
	 (a)	 2	 4	 1	 3
	 (b)	 1	 4	 2	 3
	 (c)	 3	 2	 1	 4
	 (d)	 4	 3	 2	 1

	 45.	 uhps nks dFku fn, x, gSa] ftuesa ls ,d dks vfHkdFku (A) 
rFkk nwljs dks dkj.k (R) dgk x;k gSA

		 vfHkdFku (A) % Hkkjr ij rqdhZ vkozQeu liQy gqvkA

		 dkj.k (R) % mÙkj Hkkjr esa jktuhfrd ,drk ugha FkhA

	 42.	 Match List-I with List-II and choose the correct answer 
using the codes given below the lists: 

		  List-I 		  List-II 
		  (Pass)		  (Height from Sea Level) 
	 A.	 Debsa 	 1.	 5360 metres 
	 B.	 Rohtang 	 2.	 4850 metres 
	 C.	 Bara-lacha 	 3.	 3978 metres
	 D.	 Banihal 	 4.	 2832 metres
		  Codes: 
		  A	 B	 C	 D

	 (a)	 1	 3	 2	 4

	 (b)	 3	 1	 2	 4

	 (c)	 1	 4	 2	 3

	 (d)	 3	 1	 4	 2

	 43.	 Given below are two statements, one is labelled as Assertion 
(A) and the other as Reason (R). 

		  Assertion (A): Jute is an indigenous plant of India. 
		  Reason (R): Jute is a Kharif crop sown from February to 

June and harvested from July to October. 
		  Select the correct answer from the codes given below: 
	 (a)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A). 
	 (b)	 (A) is false, but (R) is true. 
	 (c)	 Both (A) and (R) are true, but (R) is not the correct 

explanation of (A).
	 (d)	 (A) is true, but (R) is false. 
	 44.	 Match List-I with List-II and choose the correct  answer 

using the codes given below the lists: 
		  List-I  		  List-II 
		  (Essayist)		  (Treatise)
	 A. 	Devana Bhatta	 1.	 Dan Sagar 
	 B.	 Hemadri 	 2. 	 Parashar Madhav 
	 C.	 Madhvacharya 	 3. 	 Chaturvarga Chintamani 
	 D.	 Ballal Sen 	 4.	 Smriti Chandrika 
		  Codes: 
		  A	 B	 C	 D

	 (a)	 2	 4	 1	 3

	 (b)	 1	 4	 2	 3

	 (c)	 3	 2	 1	 4

	 (d)	 4	 3	 2	 1

	 45.	 Given below are two statements, one is labelled as Assertion 
(A) and the other as Reason (R). 

		  Assertion (A): Turkish invasion on India was successful. 
		  Reason (R): There was no political unity in North India. 
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		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 (A) vkSj (R) nksuksa lgh gSa vkSj (R)] (A) dh lgh O;k[;k 

djrk gSA
	 (b)	 (A) xyr gS] fdUrq (R) lgh gSA
	 (c)	 (A) vkSj (R) nksuksa lgh gSa] fdUrq (R)] (A) dh lgh 

O;k[;k ugha djrk gSA
	 (d)	 (A) lgh gS] fdUrq (R) xyr gSA

	 46.	 okWbl vkWiQ Xykscy lkmFk lfeV (oh-vks-th-,l-,l-) ds lacaèk 
esa fuEufyf•r dFkuksa ij fopkj dhft,%

	 1.	 Hkkjr us gky gh esa viuk nwljk ckWbl vkWiQ Xykscy lkmFk 
lfeVklEiUu fd;k gSA

	 2.	 Xykscy lkmFk eq[;r% fodflr ns'kksa ls lacafèkr gSA

		 mi;ZqDr esa ls dkSu&lk@ls dFku lgh gS@gSa\
	 (a)	 dsoy 2	 (b)	 u rks 1 ugha 2
	 (c)	 dsoy 1	 (d)	 1 vkSj 2 nksuksa

	 47.	 xzhugkml xSl (th-,p-th-) mRltZu esa dVkSrh ds lacaèk esa 
tyok;q ifjorZu ij varj&ljdkjh iSuy (vkbZ-ih-lh-lh-) fdl 
ij tksj nsrk gS\

	 1.	 Øfed vkSj lhfer dVkSrh i;kZIr gSaA
	 2.	 xgjh] rhoz vkSj fujUrj dVkSrh vko';d gSaA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu, %
	 (a)	 1 vkSj 2 nksuksa
	 (b)	 u rks 1 u gh 2
	 (c)	 dsoy 1
	 (d)	 dsoy 2

	 48.	 ¶vukt mit¸ 'kCn dk rkRi;Z D;k gS\
	 1.	 dkVh xbZ Hkwfe ds çfr bdkbZ {ks=k esa mRikfnr vukt iQlyksa 

dh ek=kk
	 2.	 fdlh fn, x, ns'k esa vukt iQlyksa dk dqy mRiknu

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 1 vkSj 2 nksuksa
	 (b)	 u rks 1 u gh 2
	 (c)	 dsoy 1
	 (d)	 dsoy 2

	 49.	 tqykbZ&flrEcj] 2019 vkSj tqykbZ&flrEcj] 2022 ds chp Hkkjr 
esa csjkstxkjh nj dh ço`fÙk ds lacaèk esa fuEufyf•r esa ls dkSu&lk 
dFku lgh gS\

	 1-	;g fLFkj jghA
	 2-	;g ?kV xbZA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 2 lgh gS vkSj 1 xyr gSA
	 (b)	 1 vkSj 2 nksuksa xyr gSaA
	 (c)	 1 lgh gS vkSj 2 xyr gSA
	 (d)	 1 vkSj 2 nksuksa lgh gSaA

		  Select the correct answer from the codes given below: 
	 (a)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A). 
	 (b)	 (A) is false, but (R) is true. 
	 (c)	 Both (A) and (R) are true, but (R) is not the correct 

explanation of (A). 
	 (d)	 (A) is true, but (R) is false. 
	 46.	 Consider the following statements regarding Voice of 

Global South Summit (VOGSS): 
	 1.	 India recently concluded its 2nd Voice of Global South 

Summit. 
	 2.	 The term Global South is related to developed countries. 
		  Which of the above statements is/are correct? 
	 (a)	 Only 2 
	 (b)	 Neither I nor 2 
	 (c)	 Only 1 
	 (d)	 Both 1 and 2 
	 47.	 What does the Intergovernmental Panel on Climate Change 

(IPCC) emphasize regarding reductions in greenhouse gas 
(GHG) emission? 

	 1.	 Gradual and limited reductions are enough. 
	 2.	 Deep, rapid and sustained reductions are essential.
		  Select the correct answer from the codes given below: 
	 (a)	 Both 1 and 2
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1 
	 (d)	 Only 2 
	 48.	 What does the term "Cereal Yield" refer to? 
	 1.	 The amount of cereal crops produced per unit area of 

harvested land 
	 2.	 The total production of cereal crops in a given country 
	Select the correct answer from the codes given below:
	 (a)	 Both 1 and 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1 
	 (d)	 Only 2 
	 49.	 Which of the following statements is true regarding the 

trend of unemployment rate in India between July-
September, 2019 and July-September, 2022? 

	 1.	 It remained the same. 
	 2. 	It declined. 
		  Select the correct answer from the codes given below:
 	 (a)	 2 is true and 1 is false. 
	 (b)	 Both 1 and 2 are false. 
	 (c)	 1 is true and 2 is false. 
	 (d)	 Both 1 and 2 are true.
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	 50.	 oSf'od cgqvk;keh xjhch lwpdkad (,e-ih-vkbZ-) fjiksVZ dkSu 

rS;kj@çdkf'kr djrk gS\

	 1-	fo'o cSad vkSj vUrjkZ"Vªh; eqæk dks"k (vkbZ-,e-,iQ-)

	 2-	vkWDliQksMZ xjhch vkSj fo'o LokLF; laxBu (MCY;w-,p-

vks-)

	 3-	vkWDliQksMZ xjhch vkSj ekuo fodkl igy (vks-ih-,p-vkbZ-)

	 4-	la;qDr jk"Vª fodkl dk;ZØe (;w-,u-Mh-ih-)

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%

	 (a)	 2 vkSj 4

	 (b)	 dsoy 4

	 (c)	 1 vkSj 4

	 (d)	 3 vkSj 4

	 51.	 uhps nks dFku fn, x, gSa] ftuesa ls ,d dks vfHkdFku (A) 
rFkk nwljs dks dkj.k (R) dgk x;k gSA

		 vfHkdFku (A): lrr fodkl dh èkkj.kk dks czaVySaM fjiksVZ }kjk 

yksdfiz; cuk;k x;kA

		 dkj.k (R): czaVySaM fjiksVZ dks ¶fodkl dh lhekvksa¸ ds :i 

esa Hkh tkuk tkrk gSA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%

	 (a)	 (A) vkSj (R) nksuksa lgh gSa] fdarq (R)] (A) dh lgh O;k[;k 

ugha djrk gSA

	 (b)	 (A) xyr gS] fdUrq (R) lgh gSA

	 (c)	 (A) vkSj (R) nksuksa lgh gSa vkSj (R)] (A) dh lgh O;k[;k 

djrk gSA

	 (d)	 (A) lgh gS] fdUrq (R) xyr gSA

	 52.	 fuEufyf•r ?kVukvksa ij fopkj dhft, rFkk mudks dkyØekuqlkj 

O;ofLFkr dhft,%

	 1-	fo'o fojklr fnol

	 2-	fo'o FkkbjkWbM fnol

	 3-	fo'o rEckdw fu"ksèk fnol

	 4-	vUrjkZ"Vªh; çdk'k fnol

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 3, 1, 2, 4
	 (b)	 1, 4, 2, 3
	 (c)	 2, 3, 1, 4

	 (d)	 4, 2, 3, 1

	 53.	 lwph-I dks lwph-II ls lqesfyr dhft;s vkSj lwfp;ksa ds uhps fn, 
x, dwV dk iz;skx dj lgh mÙkj pqfu;s%

		 lwph-I		  lwph-II
		 (O;fDr)		  (dkj.k)

	 50.	 Who prepares/publishes the Global Multidimensional 

Poverty Index (MPI) report? 

	 1.	 World Bank and International Monetary Fund (IMF) 

	 2.	 Oxford Poverty and World Health Organisation (WHO) 

	 3.	 Oxford Poverty and Human Development Initiative 

(OPHI) 

	 4.	 United Nations Development Programme (UNDP)

		  Select the correct answer from the codes given below: 

	 (a)	 2 and 4	 (b)	 Only 4 

	 (c)	 1 and 4	 (d)	 3 and 4 

	 51.	 Given below are two statements, one is labelled as Assertion 

(A) and the other as Reason (R). 

		  Assertion (A): The concept of Sustainable Development 

was popularised by the Brundtland Report. 

		  Reason (R): The Brundtland Report is also known as "The 

Limits to Growth". 

		  Select the correct answer from the codes given below:

	 (a)	 Both (A) and (R) are true, but (R) is not the correct 

explanation of (A). 

	 (b)	 (A) is false, but (R) is true. 

	 (c)	 Both (A) and (R) are true and (R) is the correct 

explanation of (Á). 

	 (d)	 (A) is true, but (R) is false. 

	 52.	 Consider the following events and arrange them in 

chronological order: 

	 1.	 World Heritage Day 

	 2.	 World Thyroid Day 

	 3.	 World No Tobacco Day 

	 4.	 International Day of Light 

		  Select the correct answer from the codes given below: 

	 (a)	 3, 1, 2, 4 

	 (b)	 1, 4, 2, 3 

	 (c)	 2, 3, 1, 4 

	 (d)	 4, 2, 3, 1 
	 53.	 Match List-I with List-II and choose the correct answer 

using the codes given below the lists: 
		  List-I		  List-II 
		  (Person)		  (Reason) 
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	 A.	 xksih FkksVkdqjk	 1.	� ,f'k;kbZ pSfEiuf'ki esa Lo.kZ thrus 
okyh igyh Hkkjrh; fteukLV

	 B.	 nhik djekdj	 2.	� Hkkjr esa tUe NASA oSKkfud ftUgksaus 
vk;u&eaMy ij lkSj dkfro`Ùk ds 
izHkko dk vè;;u djus okyh 
Vhe dk usr`Ro fd;k

	 C.	 vjksg cM+tkR;k	 3.	� igys Hkkjrh; varfj{k i;ZVd
	 D.	 nso iVsy	 4.	� fczfV'k vfHkusrk ftUgksaus fFkzyj 

^eadh eSu* ds lkFk funsZ'ku dh 
'kq#vkr dh

		 dwV %
		  A	 B	 C	 D
	 (a)	 4	 1	 2	 3
	 (b)	 3	 1	 2	 4
	 (c)	 3	 2	 1	 4
	 (d)	 2	 1	 3	 4

	 54.	 uhps nks dFku fn, x, gSa] ftuesa ls ,d dks vfHkdFku (A) 
rFkk nwljs dks dkj.k (R) dgk x;k gSA

		 vfHkdFku (A): 2023-24 ds nkSjku flaxkiqj] Hkkjr esa FDI dk 
lcls cM+k lzksr cudj mHkjkA

		 dkj.k (R): Hkkjr&ekWjh'kl dj lafèk la'kksèku esa Hkkjr esa izR;{k 
fons'kh fuos'k (FDI) ds izeq[k lzksrksa ds :i eas ns'kksa esa cM+k 
cnyko vk;k gSA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 (A) vkSj (R) nksuksa lgh gSa] fdarq (R)] (A) dh lgh O;k[;k 

ugha djrk gSA
	 (b)	 (A) xyr gS] fdUrq (R) lgh gSA
	 (c)	 (A) vkSj (R) nksuksa lgh gSa vkSj (R)] (A) dh lgh O;k[;k 

djrk gSA
	 (d)	 (A) lgh gS] fdUrq (R) xyr gSA
	 55.	 R21@eSfVªDl&MTM D;k gS\
	 (a)	 lhje baLVhVÔwV vkWiQ bafM;k }kjk fodflr eysfj;k ds 

f•ykiQ Vhdk
	 (b)	 Hkkjr ck;ksVsd baVjus'kuy }kjk fodflr eysfj;k ds f•ykiQ 

Vhdk
	 (c)	 lhje baLVhVÔwV vkWiQ bafM;k }kjk fodflr ,M~l ds f•ykiQ 

Vhdk
	 (d)	 Hkkjr ck;ksVsd baVjus'kuy }kjk fodflr ,M~l ds f•ykiQ 

Vhdk

	 56.	 fuEufyf•r esa ls fdlus dkUl fiQYe iQsfLVoy] 2024 ds vu 
lVZsu fjxkMZ oxZ esa loZJs"B vfHkus=kh dk iqjLdkj thrk\

	 (a)	 fd;kjk vkMok.kh
	 (b)	 vulw;k lsuxqIrk
	 (c)	 moZ'kh jkSrsyk
	 (d)	 'kksfHkrk èkwfyikyk

	 A.	 Gopi Thotakura 	 1.	� First Indian Gymnast to win 
Gold at Asian Championship 

	 B.	 Dipa Karmakar 	 2.	� Indian born NASA scientist who 
led the team to study solar 
ecliptic impact on ionosphere 

	 C.	 Aroh Barjatya 	 3.	� First Indian Space Tourist 
	 D.	 Dev Patel	 4.	� British actor who made his 

directorial debut with thriller 
“Monkey Man” 

		  Codes: 
	 A	 B	 C	 D

	 (a)	 4	 1	 2	 3

	 (b)	 3	 1	 2	 4

	 (c)	 3	 2	 1	 4

	 (d)	 2	 1	 3	 4

	 54.	 Given below are two statements, one is labelled as Assertion 
(A) and the other as Reason (R). 

		  Assertion (A): During 2023-24, Singapore emerged as the 
largest source of FDI to India. 

		  Reason (R): The India Mauritius Tax Treaty amendment 
has brought a major shift in countries as major sources of 
FDI to India. 

		  Select the correct answer from the codes given below:
	 (a)	 Both (A) and (R) are true, but (R) is not the correct 

explanation of (A). 
	 (b)	 (A) is false, but (R) is true. 
	 (c)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A). 
	 (d)	 (A) is true, but (R) is false. 
	 55.	 What is R21/Matrix-MTM? 
	 (a)	 Vaccine against Malaria developed by Serum Institute 

of India 
	 (b)	 Vaccine against Malaria developed by Bharat Biotech 

International 
	 (c)	 Vaccine against AIDS developed by Serum Institute of 

India 
	 (d)	 Vaccine against AIDS developed by Bharat Biotech 

International 
	 56.	 Who among the following won the best actress award in 

the Un Certain Regard category of the Cannes Film 
Festival, 2024 ? 

	 (a)	 Kiara Advani 
	 (b)	 Anasuya Sengupta 
	 (c)	 Urvashi Rautela 
	 (d)	 Sobhita Dhulipala 
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	 57.	 #æ,e-II felkby ds lUnHkZ esa fuEufyf•r esa ls dkSu&lk@ls 
dFku lgh gS@gSa\

	 1.	 ;g gok&ls&gok esa ekj djus okyh felkby gSA
	 2.	 bldk ijh{k.k ebZ 2024 esa jktLFkku esa fd;k x;k FkkA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 dsoy 2
	 (b)	 u rks 1 u gh 2
	 (c)	 dsoy 1
	 (d)	 1 vkSj 2 nksuksa

	 58.	 lwph-I dks lwph-II ls lqesfyr dhft;s vkSj lwfp;ksa ds uhps fn, 
x, dwV dk iz;skx dj lgh mÙkj pqfu;s%

		 lwph-I		  lwph-II
		 (uo&fuokZfpr jkT; izeq[k)		  (ns'k)
	 A.	 xhrkukl ukSlsnk	 1.	 vkblySaM
	 B.	 yqvk¡x	 2.	 fo;ruke
	 C.	 gYyk VkWelMkWfVj	 3.	 fyfFkqvkfu;k
	 D.	 tksl jkmy eqfyuks	 4.	 iukek

		 dwV %
		  A	 B	 C	 D
	 (a)	 4	 1	 2	 3
	 (b)	 3	 1	 2	 4
	 (c)	 3	 2	 1	 4
	 (d)	 2	 1	 3	 4

	 59.	 fuEufyf[kr ;qXeksa (nDdu VªSi & fo'ks"krk) esa ls dkSu&lk lgh 
lqesfyr ugha gS\

	 (a)	 eè; VSªi dh eksVkbZ	 &	 yxHkx 1200 ehVj
	 (b)	 VSªiksa ds eè;orhZ ry	 &	 lkxjh; ikniksa vkSj tarqvksa 

ds vo'ks"k (thok'e)
	 (c)	 fuEu VSªi dh eksVkbZ	 &	 yxHkx 150 ehVj
	 (d)	 mQijh VSªi dh eksVkbZ	 &	 yxHkx 450 ehVj

	 60.	 uhps nks dFku fn, x, gSa] ftuesa ls ,d dks vfHkdFku (A) 
rFkk nwljs dks dkj.k (R) dgk x;k gSA

		 vfHkdFku (A): f}rh; fo'o ;q¼ ds nkSjku [kksth xbZ tsV èkkjk,¡] 
mQijh ok;qeaMy esa pyus okyh iwohZ rs”k izokgh gok,¡ gSaA

		 dkj.k (R): tsV èkkjkvksa dh izokg xfr 300-500 fdeh izfr 
?kaVk

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 (A) vkSj (R) nksuksa lgh gSa vkSj (R)] (A) dh lgh O;k[;k 

djrk gSA
	 (b)	 (A) xyr gS] fdUrq (R) lgh gSA
	 (c)	 (A) vkSj (R) nksuksa lgh gSa] fdUrq (R)] (A) dh lgh 

O;k[;k ugha djrk gSA
	 (d)	 (A) lgh gS] fdUrq (R) xyr gSA

	 57.	 With reference to RudraM-II Missile, which of the 
following statements is/are correct? 

	 1.	 It is an air-to-air missile.
	 2.	 It was tested in Rajasthan in May 2024. 
		  Select the correct answer using the codes given below: 
	 (a)	 Only 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1 
	 (d)	 Both 1 and 2 
	 58.	 Match List-I with List-II and choose the correct answer 

using the codes given below the lists: 
		  List-I		  List-II 
		  (Newly Elected Head		  (Country)
		   of the State) 
	 A.	 Gitanas Nauseda 	 1.	 Iceland 
	 B.	 Luong Cuong	 2.	 Vietnam 
	 C.	 Halla Tomasdottir	 3.	 Lithuania 
	 D.	 Jose Raul Mulino	 4.	 Panama
		  Codes: 
		  A	 B	 C	 D
	 (a)	 4	 1	 2	 3
	 (b)	 3	 1	 2	 4
	 (c)	 3	 2	 1	 4
	 (d)	 2	 1	 3	 4

	 59.	 Which one of the following pairs (Deccan Trap - 
Peculiarity) is not correctly matched? 

	 (a)	 Depth of middle trap	 –	� 1200 metres 
approximately 

	 (b)	 Intertrappean beds	 –	� Fossils of sea plants 
and animals

	 (c)	 Depth of lower trap	 –	� 150 metres 
approximately 

	 (d)	 Depth of upper trap 	 –	� 450 metres 
approximately 

	 60.	 Given below are two statements, one is labelled as Assertion 
(A) and the other as Reason (R). 

		  Assertion (A): Jet streams discovered during World War II 
are high altitude easterly winds. 

	 	 Reason (R): Jet streams flow with a speed of 300-500 km/
hour. 

			   Select the correct answer from the codes given below: 
	 (a)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A). 
	 (b)	 (A) is false, but (R) is true. 
	 (c)	 Both (A) and (R) are true, but (R) is not the correct 

explanation of (A). 
	 (d)	 (A) is true, but (R) is false. 
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	 61.	 lwph-I dks lwph-II ls lqesfyr dhft;s vkSj lwfp;ksa ds uhps fn, 
x, dwV dk iz;skx dj lgh mÙkj pqfu;s%

		 lwph-I		  lwph-II
		 (ns'k)		  (ioZr)
	 A.	 Lisu&izQkal	 1.	 vkYil
	 B.	 fLoV~”kjySaM	 2.	 ,sisukbu
	 C.	 cqYxkfj;k	 3.	 fijsuh”k
	 D.	 bVyh	 4.	 ckYdu

		 dwV %
		  A	 B	 C	 D
	 (a)	 3	 1	 2	 4
	 (b)	 3	 1	 4	 2
	 (c)	 2	 3	 1	 4
	 (d)	 4	 1	 2	 3

	 62.	 Hkwfe ij jgus okys ikSèks vkSj tkuoj D;k dgykrs gSa\
	 (a)	 vtSfod
	 (b)	 tyh; fuoklh
	 (c)	 LFkyh; fuoklh
	 (d)	 tSfod

	 63.	 og tksM+ tgk¡ xnZu flj ls feyrh gS%
	 (a)	 fioVy tksM+
	 (b)	 lSMy tksM+
	 (c)	 fgat tksM+
	 (d)	 ckWy ,oa lkWdsV tksM+

	 64.	 buesa ls jksx iSnk djus okyk lw{etho gS%
	 (a)	 vfdZ;k
	 (b)	 jksxk.kq
	 (c)	 cSDVhfj;k
	 (d)	 çksVks”kksvk

	 65.	 nwèk buesa ls fdldk mnkgj.k gS\
	 (a)	 iQkse
	 (b)	 lkWy
	 (c)	 ,jkslksy
	 (d)	 beY'ku

	 66.	 csfdax lksMk dk lw=k gS%
	 (a)	 KHCO3
	 (b)	 Na2CO3
	 (c)	 K2CO3

	 (d)	 NaHCO3

	 67.	 CPR (lh-ih-vkj-) ls rkRi;Z gS%
	 (a)	 dkfMZ;ks çksxzke cpko
	 (b)	 dkfMZ;d iYlsVkby la'kksèku
	 (c)	 dkfMZ;ksiYeksujh iquthZou
	 (d)	 dkfMZ;ksiYeksujh la'kksèku

	 61.	 Match List-I with List-II and choose the correct answer 
using the codes given below the lists: 

		  List-I 		  List-II 
		  (Country) 		  (Mountain) 
	 A.	 Spain - France 	 1.	 Alps 
	 B.	 Switzerland 	 2.	 Apennine 
	 C.	 Bulgaria 	 3.	 Pyrenees 
	 D.	 Italy 	 4.	 Balkan 
		  Codes: 
		  A	 B	 C	 D

	 (a)	 3	 1	 2	 4

	 (b)	 3	 1	 4	 2

	 (c)	 2	 3	 1	 4

	 (d)	 4	 1	 2	 3

	 62.	 Plants and animals that live on land are called: 
	 (a)	 Abiotic 
	 (b)	 Aquatic habitants 
	 (c)	 Terrestrial habitants 
	 (d)	 Biotic 
	 63.	 The joint where the neck joins the head is: 
	 (a)	 Pivotal joint 
	 (b)	 Saddle joint 
	 (c)	 Hinge joint 
	 (d)	 Ball and socket joint 
	 64.	 The disease-causing microorganism among these is: 
	 (a)	 Archaea 
	 (b)	 Pathogens 
	 (c)	 Bacteria 
	 (d)	 Protozoa 
	 65.	 Milk is an example of: 
	 (a)	 Foam 
	 (b)	 Sol 
	 (c)	 Aerosol 
	 (d)	 Emulsion 
	 66.	 The formula of baking soda is : 
	 (a)	 KHCO3

	 (b)	 Na2CO3

	 (c)	 K2CO3

	 (d)	 NaHCO3

	 67.	 CPR stands for: 
	 (a)	 Cardio Programme Rescue 
	 (b)	 Cardiac Pulsatile Revision
 	 (c)	 Cardiopulmonary Resuscitation 
	 (d)	 Cardiopulmonary Revision 
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	 68.	 og ,dek=k f'kjk tks vkWDlhtu ;qDr jDr ogu djrh gS dgykrh 
gS%

	 (a)	 iYeksujh f'kjk
	 (b)	 flfLVd f'kjk

	 (c)	 dkfMZ;d f'kjk

	 (d)	 fgisfVd iksVZy f'kjk

	 69.	 eèkqesg tks fd ,d cgqr gh lkekU; fodkj gS] lacafèkr gksrk 
gS%

	 (a)	 o`Dd ls

	 (b)	 fiÙkk'k; ls
	 (c)	 ;Ñr ls

	 (d)	 vXU;k'k; ls

	 70.	 gky gh esa dksfoM&19 egkekjh ds dkj.k oSf'od fojke dk 
dkj.k gS%

	 (a)	 SARS – CoV-1
	 (b)	 H5N1
	 (c)	 SARS – CoV-2
	 (d)	 MERS – CoV-2

	 71.	 ,d cl ,d fuf'pr nwjh dh igyh vkèkh nwjh v1 xfr ls 
iwjk djrh gS rFkk vU; vkèkh nwjh v2 xfr ls iwjh djrh gSA 
iwjh ;k=kk esa cl dh vkSlr xfr D;k gksxh\

	 (a)	 l 2

1 2

v v
v v+

	 (b)	 l 2

1 2

2v v
v v+

	 (c)	 l 2v v
2
+

	 (d)	  
l 2v v

	 72.	 jkexaxk ifj;kstuk dh fo'ks"krkvksa ds lacaèk esa fuEufyf[kr ;qXeksa 
esa ls dkSu&lk lgh lqesfyr ugha gS\

	 (a)	 ck¡èk dh yackbZ	 &	 825.8 ehVj
	 (b)	 ty fo|qr 'kfDr mRiknu	 &	 198 esxkOkkV

	 (c)	 fLFkfr	 &	 x<+oky (mÙkjk[kaM)

	 (d)	 flafpr {ks=k	 &	 6 yk[k gsDVs;j

	 73.	 fo'o ds dqN ns'kksa ds o`Qf"kr {ks=kksa ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 USA, phu vkSj tkiku dh rqyuk esa Hkkjr dk o`Qf"kr 
HkkSxksfyd {ks=k vfèkdre gSA

	 2.	 m".k ekulwuh tyok;q izns'k esa fLFkr gksus ds dkj.k Hkkjr 
esa o"kZ Hkj fofoèkho`Qr iQlyksRiknu gksrk gSA

		 mi;qZDr esa ls dkSu&lk@ls dFku lgh gS@gSa\
	 (a)	 1 vkSj 2 nksuksa

	 (b)	 u rks 1 u gh 2
	 (c)	 dsoy 1

	 (d)	 dsoy 2

	 68. 	The only vein that carries oxygenated blood is: 
	 (a)	 Pulmonary vein 
	 (b)	 Cystic vein 
	 (c)	 Cardiac vein 
	 (d)	 Hepatic Portal vein 

	 69. 	Diabetes is the most common disorder associated with: 
	 (a)	 Kidney 
	 (b)	 Gall bladder 
	 (c)	 Liver 
	 (d)	 Pancreas 

	 70.	 The recent global pause during COVID-19 pandemic was 
caused due to: 

	 (a)	 SARS-CoV-1 
	 (b)	 H5N1 
	 (c)	 SARS-CoV-2 
	 (d)	 MERS-CoV-2 

	 71.	 A bus covers the first half of a certain distance with speed 
v1 and the second half with a speed v2. The average speed 
during the whole journey is : 

	 (a)	 l 2

1 2

v v
v v+

	 (b)	 l 2

1 2

2v v
v v+

	 (c)	 l 2v v
2
+

	 (d)	  
l 2v v

	 72.	 Which one of the following pairs is not correctly matched 
regarding peculiarities of Ramganga project? 

	 (a)	 Dam's length	 -	 825.8 metres 
	 (b)	 Hydropower	 -	 198 MW
	generation capacity
	 (c)	 Location	 -	 Garhwal (Uttarakhand) 
	 (d)	 Irrigated area 	 - 	  6 lac hectares 

	 73.	 Consider the following statements with reference to 
cultivated area of some countries of the world: 

	 1.	 In comparison to USA, China and Japan, India has 
highest geographical area under cultivation. 

	 2. 	India's location in tropical monsoon region helps 
diversified cropping all through the year. 

		  Which of the above statements is/are correct? 
	 (a)	 Both 1 and 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1 
	 (d)	 Only 2 
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	 74.	 lwph-I dks lwph-II ls lqesfyr dhft;s vkSj lwfp;ksa ds uhps fn, 
x, dwV dk iz;skx dj lgh mÙkj pqfu;s%

		 lwph-I		  lwph-II
		 (LFkku)		  (ufn;ksa dk laxe)
	 A.	 nsoiz;kx	 1.	 vyduank vkSj fiaMj
	 B.	 #nziz;kx	 2.	 vyduank vkSj HkkxhjFkh
	 C.	 d.kZiz;kx	 3.	 HkkxhjFkh vkSj fHkyaxkuk
	 D.	 fVgjh	 4.	 vyduank vkSj eankfduh

		 dwV %
		  A	 B	 C	 D
	 (a)	 4	 1	 2	 3
	 (b)	 2	 3	 1	 4
	 (c)	 4	 1	 3	 2
	 (d)	 2	 4	 1	 3

	 75.	 if'peh ;wjksi dh tyok;q ds lacaèk esa fuEufyf•r dFkuksa ij 
fopkj dhft, %

	 1-	if'peh ;wjksi esa lHkh eghuksa esa o"kkZ gksrh gSA
	 2-	if'peh ;wjksi iNqvk iouksa dh isVh ds vUrxZr fLFkr gSA

		 mi;ZqDr esa ls dkSu&lk@ls dFku lgh gS@gSa \
	 (a)	 1 vkSj 2 nksuksa
	 (b)	 u rks 1 u gh 2
	 (c)	 dsoy 1
	 (d)	 dsoy 2

	 76.	 fuEufyf•r ioZrksa ij fopkj dhft, rFkk bUgsa buds LFkku ds 
vuqlkj if'pe ls iwoZ dh vksj lgh Øe esa O;ofLFkr dhft,  %

	 1-	dkjkdksje
	 2-	ikWf.Vd
	 3-	fgUnwdq'k
	 4-	tkxzksl

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 2, 4, 3, 1
	 (b)	 2, 3, 4, 1
	 (c)	 4, 2, 3, 1
	 (d)	 4, 1, 2, 3
	 77.	 fuEufyf•r ;qXeksa (unh vkSj mldh çokg fn'kk) esa ls dkSu&lk 

lgh lqesfyr ugha gS\
	 (a)	 vewj unh & mÙkj&iwoZ
	 (b)	 flj nfj;k & mÙkj&if'pe
	 (c)	 vaxkjk unh & mÙkj
	 (d)	 esdkax unh & nf{k.k&if'pe

	 78.	 fuEufyf•r ;qXeksa (ns'k & rsy {ks=k) esa ls dkSu&lk lgh lqesfyr 
ugha gS\

	 (a)	 bZjku	 &	 gÝr dsy
	 (b)	 dqoSr	 &	dk'kxu
	 (c)	 lÅnh vjc	 &	 èkkgju
	 (d)	 bZjkd	 &	 tqcSj

	 74.	 Match List-I with List-II and choose the correct answer 
using the codes given below the lists: 

		  List-I		  List-II
	 	 (Place)	 	 (Confluencing Rivers) 
	 A.	 Devprayag 	 1.	 Alaknanda and Pindar 
	 B.	 Rudraprayag 	 2.	� Alaknanda and 

Bhagirathi 
	 C.	 Karnaprayag	 3.	� Bhagirathi and 

Bhilangna 
	 D.	 Tehri	 4.	� Alaknanda and 

Mandakini 
		  Codes: 
		  A	 B	 C	 D
	 (a)	 4	 1	 2	 3
	 (b)	 2	 3	 1	 4
	 (c)	 4	 1	 3	 2
	 (d)	 2	 4	 1	 3

	 75.	 Consider the following statements with respect to the 
climate of Western Europe: 

	 1.	 Western Europe receives rainfall in all months. 
	 2.	 Western Europe is located in the belt of Westerlies. 
		  Which of the above statements is/are correct? 
	 (a)	 Both 1 and 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1 
	 (d)	 Only 2 
	 76.	 Consider the following mountains and arrange them in 

correct order from West to East by their location: 
	 1.	 Karakoram 
	 2.	 Pontic 
	 3.	 Hindu Kush 
	 4. 	Zagros 
			   Select the correct answer from the codes given below: 
	 (a)	 2, 4, 3, 1 
	 (b)	 2, 3, 4, 1 
	 (c)	 4, 2, 3, 1 
	 (d)	 4, 1, 2, 3 
	 77.	 Which one of the following pairs (River - Direction) is not 

correctly matched? 
	 (a)	 Amur river	 -	 North-East  
	 (b)	 Syr Darya 	 -	 North-West 
	 (c)	 Angara river	 -	 North 
	 (d)	 Mekong river	 - 	 South-West 
	 78.	 Which one of the following pairs (Country - Oil field) is 

not correctly matched? 
	 (a)	 Iran	 -	 Haft Kel 
	 (b)	 Kuwait	 -	 Kashagan 
	 (c)	 Saudi Arabia	 -	 Dhahran 
	 (d)	 Iraq 	 -	 Zubair 
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	 79.	 Hkweè;lkxjh; tyok;q ds lUnHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft,%

	 1.	 ;gk¡ 'khr½rq esa o"kkZ gksrh gSA
	 2.	 'khrdkyhu v;ukar ds dkj.k ok;qnkc isfV;k¡ nf{k.k dh 

vksj f•ld tkrh gSaA

		 mi;ZqDr esa ls dkSu&lk@ls dFku lgh gS@gSa\
	 (a)	 dsoy 2
	 (c)	 u rks 1 u gh 2
	 (c)	 dsoy 1
	 (d)	 1 vkSj 2 nksuksa

	 80.	 vçSy 2024 esa gq, ekvksokn&fojksèkh vkWijs'ku ds lUnHkZ esa 
fuEufyf•r esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 1-	;g egkjk"Vª ds x<+fpjkSyh ftys esa gqvk FkkA
	 2-	;g vkWijs'ku BSF (ch-,l-,iQ-) ,oa fMfLVªDV fjtoZ xkMZ 

}kjk fd;k x;k FkkA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 dsoy 2
	 (b)	 u rks 1 u gh 2
	 (c)	 dsoy A
	 (d)	 1 vkSj 2 nksuksa

	 81.	 bljks }kjk fodflr "PraVaHa" lkWÝVos;j ds lUnHkZ esa fuEufyf•r 
esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 1.	 ;g foØe lkjkHkkbZ varfj{k dsUæ dh vxz.kh miyfCèk gSA
	 2.	 varfj{k okguksa ds çkjafHkd ok;qxfrdh; fMtkbu ds fy;s 

cM+h la[;k esa foU;kl ds ewY;kadu dh vko';drk gksrh 
gSA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 dsoy 2
	 (b)	 u rks 1 u gh 2
	 (c)	 dsoy 1
	 (d)	 1 vkSj 2 nksuksa

	 82.	 uhps nks dFku fn, x, gSa] ftuesa ls ,d dks vfHkdFku (A) 
rFkk nwljs dks dkj.k (R) dgk x;k gSA

		 vfHkdFku (A): vizSy 2024 esa Hkkjr us fiQyhihal dks czãksl 
lqijlksfud ozwQt felkby iznku dhA

		 dkj.k (R): felkby dh ekjd {kerk 490 fdyksehVj gSA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 (A) vkSj (R) nksuksa lgh gSa] fdUrq (R)] (A) dh lgh 

O;k[;k ugha djrk gSA
	 (b)	 (A) xyr gS] fdUrq (R) lgh gSA
	 (c)	 (A) vkSj (R) nksuksa lgh gSa vkSj (R)] (A) dh lgh O;k[;k 

djrk gSA
	 (d)	 (A) lgh gS] fdUrq (R) xyr gSA

	 79.	 Consider the following statements with reference to 
Mediterranean climate: 

	 1.	 It receives rainfall in winter season. 
	 2.	 Due to winter solstice, air pressure belts shift to the 

South. 

		  Which of the above statements is/are correct? 
	 (a)	 Only 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1 
	 (d)	 Both 1 and 2 

	 80.	 With reference to the Anti-Maoist operation that took place 
in April 2024, which of the following statements is/are 
correct? 

	 1.	 It took place in Gadchiroli district of Maharashtra. 
	 2.	 The operation was launched by BSF and District 

Reserve Guards. 

			   Select the correct answer from the codes given below: 
	 (a)	 Only 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1 
	 (d)	 Both 1 and 2 

	 81.	 With reference to "PraVaHa" software developed by ISRO, 
which of the following statements is/are correct? 

	 1.	 It is a path-breaking feat by Vikram Sarabhai Space 
Centre. 

	 2.	 Initial aerodynamic design of space vehicles requires 
evaluation of large number of configurations. 

			   Select the correct answer from the codes given below: 
	 (a)	 Only 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1 
	 (d)	 Both 1 and 2 

	 82.	 Given below are two statements, one is labelled as Assertion  
(A) and the other as Reason (R). 

		  Assertion (A): In April 2024, India delivered the 
BrahMos Supersonic Cruise Missile to Philippines.

		  Reason (R): The Missile has a range of 490 kilometres. 

			   Select the correct answer from the codes given below: 
	 (a)	 Both (A) and (R) are true, but (R) is not the correct 

explanation of (A). 
	 (b)	 (A) is false, but (R) is true. 
	 (c)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A). 
	 (d)	 (A) is true, but (R) is false. 
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	 83.	 ¶dksfgek 'kkafr Lekjd vkSj bdks&ikdZ̧  ds lUnHkZ esa fuEufyf•r 
esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 1.	 bldk mn~?kkVu dk;ZØe 8 ekpZ] 2024 dks dksfgek esa 
vk;ksftr fd;k x;kA

	 2.	 bls nf{k.k dksfj;k }kjk fodflr fd;k tk,xkA 

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu, %
	 (a)	 dsoy 2
	 (b)	 u rks 1 u gh 2
	 (c)	 dsoy 1
	 (d)	 1 vkSj 2 nksuksa

	 84.	 ¶çfrHkk'kkyh çkjfEHkd is'ksojksa ds fy;s xfr'khyrk O;oLFkk 
;kstuk¸ (MATES)] ds lUnHkZ esa fuEufyf•r esa ls dkSu&lk@
ls dFku lgh gS@gSa\

	 1.	 ;g Hkkjr vkSj vkWLVªsfy;k ds chp ,d f}i{kh; <k¡pk gSA
	 2.	 	bl ;kstuk esa vè;;u ds fof'k"V {ks=kksa esa Kku vkSj dkS'ky 

okys Hkkjrh; Lukrdksa (18 ls 30 o"kZ dh vk;q) dks nks 
o"kZ rd vkWLVªsfy;k esa jgus vkSj dke djus dh is'kd'k 
dh tk,xhA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 dsoy 2
	 (b)	 u rks 1 u gh 2
	 (c)	 dsoy 1
	 (d)	 1 vkSj 2 nksuksa

	 85.	 ijek.kq lqj{kk ij varjkZ"Vªh; lEesyu (ICONS 2024) ds lUnHkZ 
esa fuEufyf•r esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 1.	 ;g lEesyu 25 ebZ] 2024 dks vk;ksftr fd;k x;k FkkA
	 2.	 Hkkjr us gky gh esa ijek.kq lqj{kk dks etcwr djus ds fy;s 

,d vUrj&ea=kky;h ijek.kq rLdj fojksèkh Vhe (CNST) dk 
iquxZBu fd;k gSA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 dsoy 2
	 (b)	 u rks 1 u gh 2
	 (c)	 dsoy 1
	 (d)	 1 vkSj 2 nksuksa

	 86.	 ¶fi:y ykvks iSls ikvks¸ vfHk;ku ds lUnHkZ esa fuEufyf•r 
esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 1.	 ;g taxy dh vkx dks de djus vkSj xzkeh.kksa dks vk;Z 
çnku djus ls lacafèkr gSA

	 2.	 mÙkjk•aM ds eq[;ea=kh us bl vfHk;ku dh 'kq#vkr dhA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 dsoy 2
	 (b)	 u rks 1 ugha 2
	 (c)	 dsoy 1
	 (d)	 1 vkSj 2 nksuksa

	 83.	 With reference to the "Kohima Peace Memorial and Eco-
Park" which of the following statements is/are correct? 

	 1.	 Its inauguration programme was held on 8th March, 
2024 at Kohima. 

	 2.	 It will be developed by South Korea. 
		  Select the correct answer from the podes given below: 
	 (a)	 Only 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1 
	 (d)	 Both 1 and 2 
	 84.	 With reference to "Mobility Arrangement for Talented 

Early-professionals Scheme" (MATES), which of the 
following statements is/are correct? 

	 1.	 This is a bilateral framework between India and 
Australia. 

	 2.	 In this scheme Indian graduates (aged 18-30) with 
knowledge and skills in specific fields of study will be 
offered to live and work in Australia for up to two years. 

			   Select the correct answer from the codes given below: 
	 (a)	 Only 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1 
	 (d)	 Both 1 and 2 
	 85.	 With reference to the International Conference on Nuclear 

Security (ICONS-2024), which of the following statements 
is/are correct? 

	 1.	 This conference was held on 25th May, 2024.
	 2.	 India has recently reconstituted an inter-ministerial 

Counter Nuclear Smuggling Team (CNST) to 
strengthen the nuclear security. 

		  Select the correct answer from the codes given below:
	 (a)	 Only 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1 
	 (d)	 Both 1 and 2 
	 86.	 With reference to the "Piral Lao - Paise Pao" campaign, 

which of the following statements is/are correct? 
	 1.	 This is related to reduce forest fires and to provide a 

source of income to villagers. 
	 2.	 The Chief Minister of Uttarakhand launched this 

campaign. 
			   Select the correct answer from the codes given below: 
	 (a)	 Only 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1 
	 (d)	 Both 1 and 2 
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	 87.	 ¶usiky Hkkjr varjkZ"Vªh; laLÑr lEesyu&2024¸ ds lUnHkZ esa 
fuEufyf•r esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 1.	 ;g ubZ fnYyh esa vk;ksftr fd;k x;k FkkA
	 2.	 ;g rhu fnolh; lEesyu uhfr vuqlaèkku çfr"Bku }kjk 

vk;ksftr fd;k x;k FkkA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 dsoy 2
	 (b)	 u rks 1 u gh 2
	 (c)	 dsoy 1
	 (d)	 1 vkSj 2 nksuksa

	 88.	 ¶ywuj iksyj ,DlIyksjs'ku fe'ku¸ (ywisDl) ds lUnHkZ esa 
fuEufyf•r esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 1.	 ;g Hkkjr tkiku ds chp la;qDr pUæ fe'ku ds fy;s lk>snkjh 
gS] tks Hkfo"; esa yk¡p fd;k tk,xkA

	 2.	 JAXA fe'ku ds fy;s ySaMj fodflr djus ds fy;s ftEesnkj 
gS] tcfd ISRO jksoj vkSj yk¡p okgu dks laHkky jgk gSA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 dsoy 2
	 (b)	 u rks 1 u gh 2
	 (c)	 dsoy 1
	 (d)	 1 vkSj 2 nksuksa

	 89.	 ¶'kkjhfjd naM mUewyu ds fy;s fn'kk&funZs'k¸ (GECP) ds lUnHkZ 
esa fuEufyf•r esa ls dkSu&lk@ls dFku lgh gS gSa\

	 1.	 26 vçSy] 2024 dks rfeyukMq Ldwy f'k{kk foHkkx us ;s 
fn'kk&funZs'k tkjh fd,A

	 2.	 ;s fn'kk&funZs'k Nk=kksa ds 'kkjhfjd vkSj ekufld LokLF; dh 
lqj{kk ij dsafær gSA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 dsoy 2
	 (b)	 u rks 1 u gh 2
	 (c)	 dsoy 1
	 (d)	 1 vkSj 2 nksuksa

	 90.	 ¶,iQ,yckbZ 91 (FLY91) ds lUnHkZ esa fuEufyf•r esa ls 
dkSu&lk@ls dFku lgh gS@gSa\

	 1.	 ;g Hkkjr esa 'kq: dh xbZ ubZ ,;jykbu gSA
	 2.	 bldh igyh mM+ku 18 ekpZ] 2024 dks euksgj varjkZ"Vªh; 

gokbZ vîós ls 'kq: gqbZA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu, %
	 (a)	 dsoy 2
	 (b)	 u rks 1 u gh 2
	 (c)	 dsoy 1
	 (d)	 1 vkSj 2 nksuksa

	 87.	 With reference to “Nepal – India International Sanskrit 
Conclave – 2024”, which of the following statements is/
are correct? 

	 1.	 It was held at New Delhi. 
	 2.	 This three-day conclave was organised by the Niti 

Anusandhan Pratisthan. 

		  Select the correct answer from the codes given below: 
	 (a)	 Only 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1 
	 (d)	 Both 1 and 2 

	 88.	 With reference to “Lunar Polar Exploration Mission” 
(LUPEX), which of the following statements is/are correct? 

	 1.	 This is an India - Japan partnership for their joint moon 
mission which shall be launched in the future. 

	 2.	 JAXA is responsible for developing the lander for the 
mission, while ISRO is handling the rover and launch 
vehicle. 

		  Select the correct answer from the codes given below: 
	 (a)	 Only 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1 
	 (d)	 Both 1 and 2 

	 89.	 With reference to "Guidelines for Elimination of Corporal 
Punishment" (GECP), which of the following statements 
is/are correct? 

	 1.	 The Tamil Nadu School Education Department issued 
these guidelines on 26th April, 2024. 

	 2.	 These guidelines are focussed on safeguarding the 
physical and mental well-being of students. 

		  Select the correct answer from the codes given below: 
	 (a)	 Only 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1 
	 (d)	 Both 1 and 2 

	 90.	 With reference to "FLY91" which of the following 
statements is/are correct? 

	 1.	 It is a newly launched airline in India. 
	 2.	 Its inaugural flight took off from Manohar International 

Airport on 18th March, 2024. 

		  Select the correct answer from the codes given below: 
	 (a)	 Only 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1
	 (d)	 Both 1 and 2 
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	 91.	 lwph-I dks lwph-II ls lqesfyr dhft;s vkSj lwfp;ksa ds uhps fn, 
x, dwV dk iz;skx dj lgh mÙkj pqfu;s%

		 lwph-I		  lwph-II
		 (;kstuk uke)		  (vkjaHk frfFk)
	 A.	 izèkkuea=kh vkokl ;kstuk&xzkeh.k	 1.	 ebZ] 2016
	 B.	 ty thou fe'ku	 2.	 vDVwcj] 2014
	 C.	 LoPN Hkkjr fe'ku&xzkeh.k	 3.	 vxLr] 2019
	 D.	 izèkkuea=kh mTToyk ;kstuk	 4.	 uoacj] 2016

		 dwV %
		  A	 B	 C	 D
	 (a)	 2	 3	 1	 4
	 (b)	 4	 3	 2	 1
	 (c)	 1	 2	 3	 4
	 (d)	 3	 4	 1	 2

	 92.	 ekuo fodkl lwpdkad (,p-Mh-vkbZ-) esa fdu ladsrkadksa dk 
mi;ksx fd;k tkrk gS\

	 1.	 vk; Lrj
	 2.	 f'k{kk
	 3.	 i;kZoj.k dh fLFkfr
	 4.	 laHkkfor thou vofèk ;k vk;q

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 dsoy 1] 2 vkSj 3
	 (b)	 dsoy 1 vkSj 4
	 (c)	 dsoy 1] 2 vkSj 4
	 (d)	 dsoy 1 vkSj 2

	 93.	 Hkkjr ljdkj }kjk izkjaHk dh xbZ ;kstukvksa dks dkykuqozQe esa 
O;ofLFkr dhft, vkSj uhps fn, x, dwV esa ls lgh mÙkj pqfu,%

	 1.	 LoPN Hkkjr fe'ku
	 2.	 izèkkuea=kh dkS'ky fodkl ;kstuk
	 3.	 izèkkuea=kh xjhc dY;k.k ;kstuk
	 4.	 izèkkuea=kh efgyk 'kfDr dsanz ;kstuk

		 dwV%
	 (a)	 2, 1, 4, 3
	 (b)	 4, 2, 1, 3
	 (c)	 1, 2, 3, 4
	 (d)	 3, 1, 2, 4

	 94.	 ekYFkl us rdZ fn;k fd tula[;k ______________ izxfr esa 
c<+rh gS] tcfd o`Qf"k mRiknu@[kk| vkiwfrZ _______ izxfr esa 
c<+rh gSA fuEufyf[kr fodYiksa eas ls fjDr LFkkuksa dh iwfrZ ds 
fy;s lgh mÙkj pqfu,%

	 (a)	 jSf[kd] ?kkrkadh;
	 (b)	 ?kkrkadh;] jSf[kd
	 (c)	 vadxfr.kh;] T;kferh;
	 (d)	 T;kferh;] vadxf.krh;

	 91.	 Match List-I with List-II and choose the correct answer 
using the codes given below the lists: 

List-I List-II
(Yojana Name) (Date of launch)

A. Pradhan  Mant r i 
Aw a s  Yo j a n a  – 
Gramin

1. May, 2016 

B. Jal Jeevan Mission 2. October, 2014 
C. S w a c h h  B h a r a t 

Mission – Gramin 
3. August, 2019 

D. Pradhan  Mant r i 
Ujjwala Yojana 

4. November, 2016 

		  Codes: 
		  A	 B	 C	 D
	 (a)	 2	 3	 1	 4
	 (b)	 4	 3	 2	 1
	 (c)	 1	 2	 3	 4
	 (d)	 3	 4	 1	 2
	 92.	 Which indicators are used in Human Development Index 

(HDI)? 
	 1.	 Income level 
	 2. 	Education 
	 3.	 Condition of environment 
	 4.	 Life expectancy 
		  Select the correct answer from the codes given below: 
	 (a)	 Only 1, 2 and 3 
	 (b)	 Only 1 and 4 
	 (c)	 Only 1, 2 and 4 
	 (d)	 Only 1 and 2 
	 93.	 Arrange the following schemes launched by the 

Government of India in chronological order and choose 
the correct answer from the codes given below: 

	 1.	 Swachh Bharat Mission 
	 2.	 Pradhan Mantri Kaushal Vikas Yojana 
	 3.	 Pradhan Mantri Garib Kalyan Yojana 
	 4.	 Pradhan Mantri Mahila Shakti Kendra Scheme 
		  Codes: 
	 (a)	 2, 1, 4, 3 
	 (b)	 4, 2, 1, 3 
	 (c)	 1, 2, 3, 4 
	 (d)	 3, 1, 2, 4 
	 94.	 Malthus argued that the population grows in a _______ 

progression, while agricultural production/food supply 
grows in a ______ progression. 

		  From the following options, choose the correct answer to 
fill in the blanks: 

	 (a)	 Lincar, Exponential 
	 (b)	 Exponential, Linear
 	 (c)	 Arithmetic, Geometric 
	 (d)	 Geometric, Arithmetic 
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	 95.	 vkfFkZd loZs{k.k] 2022-23 ds vuqlkj] c<+rs oSf'od vkiwfrZ 
O;oèkkuksa ds tokc esa Hkkjr ljdkj us dkSu&lh jktdks"kh; uhfr 
dh çfrfØ;k viukbZ\

	 1-	•k| vkSj moZjd lfClMh esa deh djuk
	 2-	bZaèku vkSj vk;kfrr mRiknksa ij dj c<+kuk
	 3-	bZaèku vkSj dqN vk;kfrr mRiknksa ij dj de djuk

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 dsoy 3
	 (b)	 dsoy 1
	 (c)	 dsoy 2
	 (d)	 mi;ZqDr esa ls dksbZ ugha

	 96.	lwph-I dks lwph&II ls lqesfyr dhft, vkSj lwfp;ksa ds uhps 
fn, x, dwV dk ç;ksx dj lgh mÙkj pqfu,%

		 lwph-I		  lwph-II
		 (lkekftd lqj{kk dk;ZØe)		�  (fgrkfèkdkjh@ykHkkFkhZ dk 

;ksxnku)
	 A.	 çèkkuea=kh Je ;ksxh eku&èku ;kstuk	 1-	�fgr k f è kd k j h @

y kH k k F k h Z  dh 
bPNkuqlkj

	 B.	 çèkkuea=kh thou T;ksfr chek ;kstuk	 2-	₹55-200 çfr 
ekg

	 C.	 çèkkuea=kh lqj{kk chek] ;kstuk	 3.	 ₹436 çfr o"kZ
	 D.	 vVy isa'ku ;kstuk	 4.	 ₹20 çfr o"kZ

		 dwV %
		  A	 B	 C	 D
	 (a)	 2	 3	 4	 1
	 (b)	 2	 4	 1	 3
	 (c)	 1	 2	 3	 4
	 (d)	 3	 2	 1	 4

	 97.	 uhps nks dFku fn, x, gSa] ftuesa ls ,d dks vfHkdFku (A) 
rFkk nwljs dks dkj.k (R) dgk x;k gSA

		 vfHkdFku (A): fodkl dks thou Lrj vkSj dY;k.k esa o`f¼ 
ds :i esa ifjHkkf"kr fd;k tkrk gSA

		 dkj.k (R): izfr O;fDr vk; esa o`f¼ fodkl dh i;kZIr eki 
ugha gSA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 (A) vkSj (R) nksuksa lgh gSa vkSj (R)] (A) dh lgh O;k[;k 

djrk gSA
	 (b)	 (A) xyr gS] fdUrq (R) lgh gSA
	 (c)	 (A) vkSj (R) nksuksa lgh gSa] fdUrq (R)] (A) dh lgh 

O;k[;k ugha djrk gSA
	 (d)	 (A) lgh gS] fdUrq (R) xyr gSA

	 95.	 According to the Economic Survey, 2022-23, what fiscal 
policy response did the Government of India undertake in 
response to the aggravated global supply disruptions? 

	 1.	 Decreasing food and fertiliser subsidies 
	 2.	 Increasing taxes on fuel and imported products
	 3.	 Reducing taxes on fuel and certain imported products 

		  Select the correct answer from the codes given below: 
	 (a)	 Only 3 
	 (b)	 Only 1 
	 (c)	 Only 2 
	 (d)	 None of the above 

	 96.	 Match List-I with List-II and choose the correct answer 
using the codes given below the lists: 

List-I List-II
( S o c i a l  S e c u r i t y 
Programme)

(Beneficiary's 
Contribution) 

A. Pradhan Mantri Shram 
Yogi Maan-Dhan Yojana

1. Beneficiary's 
choice

B. Pradhan Mantri Jeevan 
Jyoti Bima Yojana 

2. ₹55-₹200 per 
month 

C. Pradhan Mantri Suraksha 
Bima Yojana

3. ₹436 per year 

D. Atal Pension Yojana 4. ₹20 per year 

		  Codes: 
		  A	 B	 C	 D

	 (a)	 2	 3	 4	 1

	 (b)	 2	 4	 1	 3

	 (c)	 1	 2	 3	 4

	 (d)	 3	 2	 1	 4

	 97.	 Given below are two statements, one is labelled as Assertion 
(A) and the other as Reason (R). 

	 	 Assertion (A): Development is being defined as improving 
living standards and welfare. 

	 	 Reason (R): Growth in per capita income is not a sufficient 
measure of development. 

		  Select the correct answer from the codes given below: 
	 (a)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A). 
	 (b)	 (A) is false, but (R) is true. 
	 (c)	 Both (A) and (R) are true, but (R) is not the correct 

explanation of (A). 
	 (d)	 (A) is true, but (R) is false. 
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	 98.	 lrr fodkl y{;] 2030 esa y{; 4 dks izkIr djus ds fy;s 
dkSu&lk@ls mik; vko';d gS@gSa\

	 1.	 f'k{kk dks fu%'kqYd vkSj vfuok;Z cukuk
	 2.	 Ldwy ds cqfu;knh <k¡ps esa lqèkkj vkSj fMftVy ifjorZu
	 3.	 o`Qf"k dk;ZozQeksa dk foLrkj
	 4.	 izkS|ksfxdh fuos'k esa o`f¼

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu;s%
	 (a)	 1 vkSj 2
	 (b)	 1, 2, 3 vkSj 4
	 (c)	 dsoy 1
	 (d)	 1, 2 vkSj 3

	 99.	 vuqPNsn 19 ds varxZr fuEufyf•r esa ls dkSu&lh ,d Lora=krk 
dh Hkkjrh; lafoèkku }kjk xkjaVh ugha nh xbZ gS\

	 (a)	 'kkafriwoZd rFkk fcuk 'kL=kksa ds ,d=k gksus dh Lora=krk
	 (b)	 lEifÙk j•us] •jhnus vkSj cspus dh Lora=krk
	 (c)	 iwjs ns'k esa bPNkuqlkj ?kweus&fiQjus dh Lora=krk
	 (d)	 fdlh O;kikj vFkok O;olk; dks djus dh Lora=krk 

	100.	 uhps nks dFku fn, x, gSa] ftuesa ls ,d dks vfHkdFku (A) 
rFkk nwljs dks dkj.k (R) dgk x;k gSA

		 vfHkdFku (A)% Hkkjrh; lafoèkku ds vuqlkj] ,d gh O;fDr 
,d gh le; esa nks vFkok nks ls vfèkd jkT;ksa ds jkT;iky ds 
in ij dk;Z ugha dj ldrkA

			  dkj.k (R) % Hkkjrh; lafoèkku ds vuqPNsn 153 esa ;g dgk 
x;k gS fd çR;sd jkT; ds fy;s ,d jkT;iky gksxkA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 (A) rFkk (R) nksuksa lgh gSa] fdUrq (R)] (A) dh lgh 

O;k[;k ugha djrk gSA
	 (b)	 (A) xyr gS] fdUrq (R) lgh gSA
	 (c)	 (A) rFkk (R) nksuksa lgh gSa vkSj (R)] (A) dh lgh O;k[;k 

djrk gSA
	 (d)	 (A) lgh gS] fdUrq (R) xyr gS

	101.	 fuEufyf[kr esa ls dkSu&ls tksM+s dk feyku lgh ugha gS\
	 (a)	 fofèk ds le{k lekurk	 &	� u k x f j d k s a  , o a 

xSj&ukxfjdksa nksuksa ds 
fy;s lqfuf'pr dh 
xbZ gS

	 (b)	 yksd lsokvksa esa volj dh lekurk	&	�dsoy Hk kjr d s 
ukxfjdksa ds fy;s 
lqfuf'pr gS

	 (c)	 fdlh u, jkT; dh LFkkiuk djuk	&	� laln dh 'kfDr
	 (d)	 fdlh jkT; dk uke cnyuk	 &	� jkT; foèkku&eaMy 

dh 'kfDr;k¡

	 98.	 Which measures are essential to achieve Goal 4 of the 
Sustainable Development Targets, 2030? 

	 1.	 Making education free and compulsory 

	 2.	 Improving basic school infrastructure and embracing 
digital transformation 

	 3.	 Expansion of agricultural programmes 

	 4.	 Increasing investment in technology 

		  Select the correct answer from the codes given below: 
	 (a)	 1 and 2 

	 (b)	 1, 2, 3 and 4 

	 (c)	 Only 1

	 (d)	 1, 2 and 3 

	 99.	 Which of the following freedoms is not guaranteed by the 
Indian Constitution under Article 19? 

	 (a)	 Freedom to assemble peacefully and without arms 

	 (b)	 Freedom to own, acquire and dispose of property 

	 (c)	 Freedom to move freely throughout the country 

	 (d)	 Freedom to practise any trade or profession 

	100.	 Given below are two statements, one is labelled as Assertion 
(A) and the other as Reason (R). 

		  Assertion (A): According to the Constitution of India, the 
same person cannot function as the Governor of two or 
more States at the same time. 

		  Reason (R): Article 153 of the Indian Constitution states 
that there shall be a Governor for each State.

		  Select the correct answer from the codes given below: 
	 (a)	 Both (A) and (R) are true, but (R) is not the correct 

explanation of (A)

	 (b)	 (A) is false, but (R) is true 

	 (c)	 Both (A) and (R) are true and (R) is the correct 
explanation of (A). 

	 (d)	 (A) is true, but (R) is false. 

	101.	 Which one of the following pairs is not correctly matched? 
	 (a)	 Equality before Law	 -	 Guaranteed to both 

citizens and non-citizens 

	 (b)	 Equality of opportunity 	 -	� Guaranteed only to

		  in public employment		  Indian citizens

 	 (c)	 Creating a new State 	 -	 Power of Parliament 

	 (d)	 Altering the name of a State	-	� Power  o f  a  S ta te 
Legislature 
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	102.	 lwph-I dks lwph&II ls lqesfyr dhft, vkSj lwfp;ksa ds uhps 

fn, x, dwV dk ç;ksx dj lgh mÙkj pqfu,%

		 lwph-I		  lwph-II

	 A.	 Hkkjr dh lafpr fufèk	 1-	 vuqPNsn 266

	 B.	 foÙk vk;ksx	 2-	 vuqPNsn 360

	 C.	 foÙkh; vkikrdky	 3.	 vuqPNsn 280

	 D.	 Hkkjr ds fu;a=kd ,oa egkys[kk ijh{kd	 4.	 vuqPNsn 148

		 dwV %
		  A	 B	 C	 D
	 (a)	 3	 1	 2	 4
	 (b)	 4	 1	 3	 2
	 (c)	 1	 3	 2	 4
	 (d)	 1	 2	 3	 4

	103.	 Hkkjrh; lafoèkku esa 'kks"k.k ds fo#¼ vfèkdkj ds varxZr 

fuEufyf[kr eas ls fdl dh ifjdYiuk dh xbZ gS\

	 1.	 vLi`';rk dk var

	 2.	 ekuo nsg O;kikj vkSj cykr~ Je dk fu"ksèk

	 3.	 dkj[kkuksa vkSj [knkuksa esa cPpksa dh etnwjh dk fu"ksèk

	 4.	 vYila[;dksa ds fgrksa dh lqj{kk

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%

	 (a)	 2 vkSj 3

	 (b)	 3 vkSj 4

	 (c)	 1 vkSj 2

	 (d)	 1 vkSj 4

	104.	 fuEufyf[kr lewgksa esa ls fdlesa dsoy vkxr midj.k (buiqV 

fMokbl) gSa\

	 (a)	 ekml] dh&cksMZ] fiazVj

	 (b)	 ekml] dh&cksMZ] izkstsDVj

	 (c)	 ekml] dh&cksMZ] ekWuhVj

	 (d)	 ekml] dh&cksMZ] LdSuj

	105.	 daI;wVj eseksjh dk og dkSu&lk Hkkx gS tks fo|qr vkiwfrZ ckfèkr 

gksus ij Hkh vifjorZu'khy jgrk gS\

	 (a)	 REM

	 (b)	 RAM

	 (c)	 ROM

	 (d)	 mi;qZDr esa ls dksbZ ugha

	106.	 fuEufyf[kr esa ls dkSu&lk iQkjsugkbV (°F) rFkk lsfYl;l (°C) 
fMxzh ds chp lgh lacaèk n'kkZrk gS\

	 (a)	 °C =   °F + 32	 (c)	 °C = °F – 273.15

	 (c)	 °F =   °C + 32	 (d)	 °F = °C – 273.15

	102.	 Match List-I and List-II and choose the correct answer 
from the codes given below the lists: 

List-I List-II 
A. Consolidated Fund of India 1. Article 266
B. Finance Commission 2. Article 360
C. Financial Emergency 3. Article 280
D.  Comptroller and Auditor 

General of India 
4. Article 148 

		  Codes: 
		  A	 B	 C	 D

	 (a)	 3	 1	 2	 4

	 (b)	 4	 1	 3	 2

	 (c)	 1	 3	 2	 4

	 (d)	 1	 2	 3	 4

	103.	 Which of the following are envisaged by the Right against 
Exploitation in the Constitution of India? 

	 1.	 Abolition of untouchability 
	 2.	 Prohibition of human trafficking and forced labour 
	 3.	 Prohibition of employment of children in factories and 

mines 
	 4.	 Protection of interests of minorities 

		  Select the correct answer from the codes given below: 
	 (a)	 2 and 3 
	 (b)	 3 and 4 
	 (c)	 1 and 2 
	 (d)	 1 and 4 

	104.	 Which one of the following groups have only input devices? 
	 (a)	 Mouse, Keyboard, Printer 
	 (b)	 Mouse, Keyboard, Projector 
	 (c)	 Mouse, Keyboard, Monitor 
	 (d)	 Mouse, Keyboard, Scanner 

	105.	 The content of computer memory which is non-volatile, 
even when the power goes off is: 

	 (a)	 REM 
	 (b)	 RAM 
	 (c)	 ROM 
	 (d)	 None of the above 

	106.	 Which of the following is a correct relationship between 
Fahrenheit (°F) and Celsius (°C) degrees? 

	 (a)	 °C =   °F + 32	 (b)	 °C = °F – 273.15
	 (c)	 °F =   °C + 32	 (d)	 °F = °C – 273.15
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	107.	 fuEufyf•r esa ls dkSu&lk dFku lgh ugha gS\

	 (a)	 Øksekslkse Mh-,u-,- rFkk çksVhu ls cus gksrs gSaA

	 (b)	 fdlh dksf'kdk dk dsUæd dksf'kdh; foHkktu@çtuu esa 

fgLlk ugha ysrk gSA

	 (c)	 Øksekslkse larfr;ksa ds fy;s lwpuk,¡ jf{kr j•rs gSaA

	 (d)	 Mh-,u-,- dh dk;kZRed bdkbZ dks thu dgrs gSaA

	108.	 uhps nks dFku fn, x, gSa] ftuesa ls ,d dks vfHkdFku (A) 

rFkk nwljs dks dkj.k (R) dgk x;k gSA

		 vfHkdFku (A) % CO2, SO2 vkSj NO2 xSlsa o"kkZ ty esa ?kqy 

tkrh gSa vkSj vEyh; o"kkZ mRiUu djrh gSaA

		 dkj.k (R) % dkcZu MkbvkWDlkbM] lYiQj MkbvkWDlkbM vkSj 

ukbVªkstu ds vkWDlkbM tSlh xSlksa dh mPp lkaærk ds dkj.k 

ok;qeaMyh; ok;q çnwf"kr gksrh gSA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu, %

	 (a)	  (A) vkSj (R) nksuksa lgh gSa vkSj (R), (A) dh lgh 

O;k[;k djrk gSA

	 (b)	 (A) xyr gS] fdUrq (R) lgh gSA

	 (c)	 (A) vkSj (R) nksuksa lgh gSa] fdUrq (R)] (A) dh lgh 

O;k[;k ugha djrk gSA

	 (d)	 (A) lgh gS] fdUrq (R) xyr gSA

	109.	 7oha Hkkjr&baMksusf'k;k la;qDr j{kk lg;ksx lfefr dh cSBd ds 

lUnHkZ esa fuEufyf•r esa ls dkSu&lk@ls dFku lgh gS@gSa\

	 1-	bl cSBd esa baMksusf'k;k us j{kk] m|ksx] leqæh lqj{kk vkSj 

cgqi{kh; lg;ksx ds {ks=kksa esa lg;ksx c<+kus ij lgefr trkbZA

	 2-	;g cSBd 5 ebZ] 2024 dks tdkrkZ esa vk;ksftr dh xbZA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu, %

	 (a)	 dsoy 2

	 (b)	 u rks 1 u gh 2

	 (c)	 dsoy 1

	 (d)	 1 vkSj 2 nksuksa

	110.	 “FWD 200B” ds lUnHkZ esa fuEufyf[kr esa ls dkSu&lk@ls dFku 

lgh gS@gSa\

	 1.	 ;g Hkkjr dk igyk Lons'kh ceo"kZd “UAV” foeku gSA

	 2.	 bldh isyksM {kerk 100 fdyksxzke gSA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu;s%

	 (a)	 dsoy 2

	 (b)	 u rks 1 u gh 2

	 (c)	 dsoy 1

	 (d)	 1 vkSj 2 nksuksa

	107.	 Which of the following statements is not true? 
	 (a)	 Chromosomes are composed of DNA and Protein. 
	 (b)	 Nucleus of a cell does not play a role in cellular 

reproduction. 
	 (c)	 Chromosomes contain information for inheritance. 
	 (d)	 Functional segment of DNA is called genes.

	108.	 Given below are two statements, one is labelled as Assertion 
(A) and the other as Reason (R). 

		  Assertion (A):  CO2, SO2, and NO2 gases get dissolved in 
rain water and produce acid rain. 

		  Reason (R): Atmospheric air is polluted due to high 
concentration of gases like carbon dioxide, sulphur dioxide 
and oxides of nitrogen. 

		  Select the correct answer from the codes given below:
	 (a)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A). 
	 (b)	 (A) is false, but (R) is true. 
	 (c)	 Both (A) and (R) are true, but (R) is not the correct 

explanation of (A). 
	 (d)	 (A) is true, but (R) is false. 

	109.	 With reference to the 7th India - Indonesia Joint Defence 
Cooperation Committee meeting, which of the following 
statements is/are correct? 

	 1.	 In this meeting Indonesia agreed to enhance 
collaboration in the areas of defence, industry, maritime 
security and multilateral cooperation.

	 2.	 This meeting was held at Jakarta on May 5, 2024. 

		  Select the correct answer from the codes given below: 
	 (a)	 Only 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1
	 (d)	 Both 1 and 2 

	110.	 With reference to “FWD 200B”, which of the following 
statements is/are correct? 

	 1.	 This is India's first indigenous bomber "UAV" aircraft. 
	 2.	 Its payload capacity is 100 kgs. 

		  Select the correct answer from the codes given below: 
	 (a)	 Only 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1
	 (d)	 Both 1 and 2 
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	111.	 ¶Hkkjr&vkWLVsªfy;k vkfFkZd lg;ksx vkSj O;kikj le>kSrk (Ind 
– Aus ECTA)” ds lUnHkZ esa fuEufyf[kr esa ls dkSu&lk@ls 
dFku lgh gS@gSa\

	 1.	 ;g FTA (,iQ-Vh-,-) ds fy;s viuh rjg dh igyh igy 
gSA

	 2.	 cSBd esa Hkkjr ds okf.kT; lfpo Jh lquhy cFkZoky us 
Hkkx fy;kA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu;s%
	 (a)	 dsoy 2
	 (b)	 u rks 1 u gh 2
	 (c)	 dsoy 1
	 (d)	 1 vkSj 2 nksuksa
	112.	 lwph-I dks lwph& II ls lqesfyr dhft, vkSj lwfp;ksa ds uhps 

fn, x, dwV dk ç;ksx dj lgh mÙkj pqfu,%

lwph-I lwph-II

(la;qDr vH;kl) (frfFk;k¡)
A. Hkkjr&m”csfdLrku la;qDr 

lSU; vH;kl] ¶MLVfyd¸ 
(DUSTLIK)

1. IkQjojh 19-27] 2024

B. Hkkjr&izQkal la;qDr lSU; 
v H ; k l ]  ¶ ' k f D r ¸ 
(SHAKTI)

2. ebZ 13-26] 2024

C. Hkkjr&la;qDr jk"Vª vesfjdk 
dk la;qDr vH;kl] Vkbxj 
Vªk;EiQ (Tiger Triumph), 
2024 dk gkcZj pj.k

3. vizSy 15-28] 2024

D. feyu (MILAN)] 2024 4. EkkpZ 18&25] 2024
		 dwV %
		  A	 B	 C	 D
	 (a)	 3	 4	 1	 2
	 (b)	 3	 2	 4	 1
	 (c)	 4	 2	 1	 3
	 (d)	 2	 3	 1	 4

	113.	 ¶'kDlxke ?kkVh¸ ds lUnHkZ esa fuEufyf•r esa ls dkSu&lk@ls 
dFku lgh gS@gSa\

	 1.	 ;g ?kkVh j.kuhfrd :i ls egÙoiw.kZ {ks=k gS] tks ikfdLrku 
ds dCts okys d'ehj (PoK) dk fgLlk gSA

	 2.	 Hkkjr us bl ?kkVh esa phu }kjk fd, tk jgs cqfu;knh <k¡ps 
ds fodkl ij fojksèk ntZ djk;k gSA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 dsoy 2
	 (b)	 u rks 1 u gh 2
	 (c)	 dsoy 1
	 (d)	 1 vkSj 2 nksuksa

	111.	 With reference to “Indla – Australia Economic Co-
operation and Trade Agreement (Ind- Aus ECTA),” which 
of the following statements is/are correct? 

	 1.	 This is a first-of-its-kind initiative of FTAs. 
	 2.	 The meeting was attended by the Commerce Secretary 

of India, Shri Sunil Barthwal. 

		  Select the correct answer using the codes given below: 
	 (a)	 Only 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1 
	 (d)	 Both 1 and 2 

	112.	 Match List-I with List-II and choose the correct answer 
using the codes given below the lists: 

List-I List-II 
(Joint Exercise) (Dates) 

A. India-Uzbekistan Joint 
Mil i tary Exercise, 
“DUSTLIK” 

1. February 19-27, 2024

B. India-France Joint 
Mil i tary Exercise, 
“SHAKTI”

2. May 13-26, 2024 

C. Harbour phase of Indo-
US Joint Exercise, 
Tiger Triumph, 2024

3. April 15-28, 2024 

D. MILAN, 2024 4. March 18-25, 2024 

	Codes:
		  A	 B	 C	 D

	 (a)	 3	 4	 1	 2

	 (b)	 3	 2	 4	 1

	 (c)	 4	 2	 1	 3

	 (d)	 2	 3	 1	 4

	113.	 With reference to “Shaksgam Valley”, which of the 
following statements is/are correct? 

	 1.	 This valley is a strategic, key region, that is part of 
Pakistan-occupied Kashmir (PoK). 

	 2.	 India has lodged protest against the infrastructural 
development being carried out by China in this valley. 

		  Select the correct answer from the codes given below: 
	 (a)	 Only 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1 
	 (d)	 Both 1 and 2 
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	114.	 Hkkjr ljdkj }kjk çkjEHk dh xbZ fuEufyf•r ;kstukvksa dks 
dkykuqØe esa O;ofLFkr dhft, vkSj uhps fn, x, dwV esa ls 
lgh mÙkj pqfu, %

	 1-	lefUor xzkeh.k fodkl dk;ZØe
	 2-	Lo.kZ t;Urh xzke Lojkstxkj ;kstuk
	 3-	jk"Vªh; xzkeh.k jkstxkj xkjaVh vfèkfu;e
	 4-	çèkkuea=kh tu&èku ;kstuk

		 dwV%
	 (a)	 1, 2, 3, 4
	 (b)	 3, 4, 1, 2
	 (c)	 2, 3, 4, 1
	 (d)	 4, 3, 1, 2
	115.	 vkfFkZd lao`f¼ ds lUnHkZ esa] fuEufyf•r esa ls fuEufyf•r esa 

ls dkSu&lk@ls dFku lgh gS@gSaA
	 1.	Hkkjrh; vFkZO;oLFkk ,d vYifodflr vFkZO;oLFkk gSA
	 2.	Hkkjrh; vFkZO;oLFkk ,d fefJr vFkZO;oLFkk gSA
	 3.	ts-,e- dhUl vFkZ'kkL=k ds tud gSaA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu, %
	 (a)	 dsoy 1 vkSj 2 lgh gSaA
	 (b)	 dsoy 3 lgh gSA
	 (c)	 dsoy 1 lgh gSA
	 (d)	 dsoy 2 vkSj 3 lgh gSaA

	116.	 uhps nks dFku fn, x, gSa] ftuesa ls ,d dks vfHkdFku (A) 
rFkk nwljs dks dkj.k (R) dgk x;k gSA

		 vfHkdFku (A) % jk"Vªh; eqnzk dk og ewY; tks fons'kh eqnzk dh 
ek¡x vkSj vkiwfrZ }kjk r; gksrk gS] mls uE; fofue; nj dgrs 
gSaA

		 dkj.k (R) % fons'kh eqnzk dh ek¡x vkSj vkiwfrZ dsanzh; cSad }kjk 
fuèkkZfjr gksrh gSA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu, %
	 (a)	  (A) vkSj (R) nksuksa lgh gSa vkSj (R), (A) dh lgh 

O;k[;k djrk gSA
	 (b)	 (A) xyr gS] fdUrq (R) lgh gSA
	 (c)	 (A) vkSj (R) nksuksa lgh gSa] fdUrq (R)] (A) dh lgh 

O;k[;k ugha djrk gSA
	 (d)	 (A) lgh gS] fdUrq (R) xyr gSA
	117.	 Hkkjr ds lanHkZ esa] fuEufyf[kr ?kVukvksa ij fopkj dhft,%
	 1.	 cSadksa dk jk"Vªh;dj.k
	 2-	{ks=kh; xzkeh.k cSadksa dk xBu
	 3-	cSad 'kk•kvksa }kjk xk¡oksa dks xksn ysuk

		 mi;ZqDr ?kVukvksa esa ls fdls@fdUgsa ¶Hkkjr esa foÙkh; lekos'ku¸ 
çkIr djus ds fy;s mBk;k x;k dne ekuk tk ldrk gS\

	 (a)	 dsoy 2 vkSj 3
	 (b)	 1] 2 vkSj 3
	 (c)	 dsoy 1 vkSj 2
	 (d)	 dsoy 3

	114.	 Arrange the following schemes launched by the 
Government of India in chronological order and choose 
the correct answer from the codes given below: 

	 1.	 Integrated Rural Development Programme
	 2.	 Swamjayanti Gram Swarozgar Yojana
	 3.	 National Rural Employment Guarantee Act
	 4.	 Pradhan Mantri Jan-Dhan Yojana 
		  Codes: 
	 (a)	 1, 2, 3, 4 
	 (b)	 3, 4, 1, 2 
	 (c)	 2, 3, 4, 1 
	 (d)	 4, 3, 1, 2 
	115.	 With reference to Economic Growth, which of the 

following statements is/are correct? 
	 1.	 Indian Economy is an Underdeveloped Economy.
	 2.	 Indian Economy is a Mixed Economy. 
	 3.	 J.M. Keynes is the Father of Economics. 
		  Select the correct answer from the codes given below:
	 (a)	 Only 1 and 2 are correct. 
	 (b)	 Only 3 is correct. 
	 (c)	 Only 1 is correct. 
	 (d)	 Only 2 and 3 are correct. 
	116.	 Given below are two statements, one is labelled as Assertion 

(A) and the other as Reason (R). 
		  Assertion (A): The value of national currency determined 

by demand and supply of foreign currency is called flexible 
exchange rate.

		  Reason (R): Demand and supply of the foreign currency 
is being determined by the Central Bank.

		  Select the correct answer from the codes given below:
	 (a)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A). 
	 (b)	 (A) is false, but (R) is true. 
	 (c)	 Both (A) and (R) are true, but (R) is not the correct 

explanation of (A). 
	 (d)	 (A) is true, but (R) is false. 
	117.	 With reference to India, consider the following events: 
	 1.	 Nationalisation of Banks 
	 2.	 Formation of Regional Rural Banks 
	 3.	 Adoption of villages by Bank Branches 
		  Which of the above events can be considered as steps taken 

to achieve "financial inclusion in India"? 
	 (a)	 Only 2 and 3
 	 (b)	 1, 2 and 3 
	 (c)	 Only 1 and 2 
	 (d)	 Only 3 
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	118.	 ¶jk"Vªh; •k| lqj{kk vfèkfu;e¸ ds lUnHkZ esa fuEufyf•r esa 
ls dkSu&ls dFku lgh gSa\

	 1.	 ;g 75» xzkeh.k vkSj 50» 'kgjh tula[;k rd foLrkfjr 
gksxkA

	 2.	 blesa efgykvksa vkSj cPpksa ds iks"k.k leFkZu ij fo'ks"k è;ku 
fn;k x;k gSA

	 3.	 ;g 5 tqykbZ] 2010 dks ykxw fd;k x;k FkkA

			  dwV %
	 (a)	 2 vkSj 3 lgh gSaA

	 (b)	 1 vkSj 3 lgh gSaA

	 (c)	 1] 2 vkSj 3 lgh gSaA

	 (d)	 1 vkSj 2 lgh gSaA

	119.	 uhps nks dFku fn, x, gSa] ftuesa ls ,d dks vfHkdFku (A) 
rFkk nwljs dks dkj.k (R) dgk x;k gSA

		 vfHkdFku (A) % ekuo fodkl lwpdkad (,p-Mh-vkbZ-) ,oa 
lrr fodkl y{;ksa (,l-Mh-th-) ij vkèkkfjr Hkkjrh; jkT;ksa 
dh ojh;rk esa ldkjkRed lacaèk gSA

		 dkj.k (R) % lrr fodkl y{;ksa ds vkèkkjHkwr vk;keksa dk 
f'k{kk ,oa LokLF; ls ?kfu"Brk ds lkFk lacaèk gSA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu, %
	 (a)	  (A) vkSj (R) nksuksa lgh gSa] fdUrq (R), (A) dh lgh 

O;k[;k ugha djrk gSA

	 (b)	 (A) xyr gS] fdUrq (R) lgh gSA
	 (c)	 (A) vkSj (R) nksuksa lgh gSa vkSj (R)] (A) dh lgh O;k[;k 

djrk gSA

	 (d)	 (A) lgh gS] fdUrq (R) xyr gSA

	120.	 lwph-I esa ns'kksa ds uke gSa] tcfd lwph-II esa o"kZ 2022 esa 
izokfl;ksa }kjk Hksth xbZ jkf'k dks ozQe (jSad) ds vuqlkj n'kkZ;k 
x;k gSA lwph-I dks lwph-II ls lqesfyr dhft;s vkSj lwfp;ksa ds 
uhps fn, x, dwV dk iz;ksx dj lgh mÙkj pqfu;s%

		 lwph-I		  lwph-II
		 (ns'k)		  (jSad)

	 A.	 esfDldks	 1-	 izFke

	 B.	 phu	 2-	 f}rh;

	 C.	 Hkkjr	 3.	 r`rh;
	 D.	 fiQyhihal	 4.	 prqFkZ

		 dwV %
		  A	 B	 C	 D
	 (a)	 4	 1	 2	 3
	 (b)	 2	 3	 1	 4
	 (c)	 3	 4	 2	 1
	 (d)	 1	 2	 3	 4

	118.	 With reference to “National Food Security Act”, which of 
the following statements are correct? 

	 1.	 It will cover up to 75% rural and 50% urban population. 
	 2.	 It has special focus on nutritional support to women 

and children. 
	 3.	 It was enforced on July 5, 2010. 

		  Codes: 
	 (a)	 2 and 3 are correct. 
	 (b)	 1 and 3 are correct. 
	 (c)	 1, 2 and 3 are correct. 
	 (d)	 1 and 2 are correct. 

	119.	 Given below are two statements, one is labelled as Assertion 
(A) and the other as Reason (R). 

		  Assertion (A): There is a positive relationship between 
Human Development Index (HDI) and the Sustainable 
Development Goals (SDGs) ranking of Indian States. 

		  Reason (R): The underlying dimensions of SDG targets 
are closely related to education and health aspects.

		  Select the correct answer from the codes given below: 
	 (a)	 Both (A) and (R) are true, but (R) is not the correct 

explanation of (A). 
	 (b)	 (A) is false, but (R) is true. 
	 (c)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A). 
	 (d)	 (A) is true, but (R) is false. 

	120.		  List-I contains the names of countries, whereas List-II 
shows the Rank as remittances received in the year 2022. 
Match List-I with List-II and choose the correct answer 
using the codes given below the lists: 

List-I List-II 
(Country) (Rank)

A. Mexico 1. First 
B. China 2.  Second 
C. India 3. Third 
D. Philippines 4. Fourth 

		  Codes: 
		  A	 B	 C	 D

	 (a)	 4	 1	 2	 3

	 (b)	 2	 3	 1	 4

	 (c)	 3	 4	 2	 1

	 (d)	 1	 2	 3	 4
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	121.	 lwph-I dks lwph& II ls lqesfyr dhft, vkSj lwfp;ksa ds uhps 

fn, x, dwV dk ç;ksx dj lgh mÙkj pqfu,%

		 lwph-I		  lwph-II

		 (jkT;)		�  (2019-23 ds nkSjku vkèkkjHkwr 

lajpukvksa ij fd, x, [kpZ ds 

vuqlkj Js"Brk ozQe)

	 A.	 egkjk"Vª	 1.	 izFke

	 B.	 mÙkj izns'k	 2.	 f}rh;

	 C.	 rfeyukMq	 3.	 r`rh;

	 D.	 dukZVd	 4.	 prqFkZ

		 dwV %
		  A	 B	 C	 D
	 (a)	 1	 2	 3	 4
	 (b)	 2	 1	 3	 4
	 (c)	 4	 1	 2	 3
	 (d)	 2	 3	 1	 4

	122.	 uhps nks dFku fn, x, gSa] ftuesa ls ,d dks vfHkdFku (A) 
rFkk nwljs dks dkj.k (R) dgk x;k gSA

		 vfHkdFku (A)% Hkkjrh; lafoèkku dk vuqPNsn 352 vkikrdkyhu 

fLFkfr dh ?kks"k.kk ls lacafèkr gSA

		 dkj.k (R)% vkikrdkyhu fLFkfr fdlh Hkh le; mRiUu gks 

ldrh gSA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu, %

	 (a)	 (A) rFkk (R) nksuksa lgh gSa] fdUrq (R)] (A) dh lgh 

O;k[;k ugha djrk gSA

	 (b)	 (A) xyr gS] fdUrq (R) lgh gSA

	 (c)	 (A) rFkk (R) nksuksa lgh gSa vkSj (R)] (A) dh lgh O;k[;k 

djrk gSA

	 (d)	 (A) lgha gS] fdUrq (R) xyr gSA

	123.	 vkbZ-lh-Vh- vkèkkfjr bZ&xous±l ds lacaèk eas fuEufyf[kr esa ls 

dkSu&ls dFku lgh gSa\

	 1.	 bZ&xous±l ljdkj ij ikjnf'kZrk dks de djrk gSA

	 2.	 bZ&xous±l ls ljdkj dh ykxr de gks tkrh gSA

	 3.	 bZ&xous±l ls ljdkj esa ukxfjdksa dk ;ksxnku c<+ tkrk gSA

	 4.	 bZ&xous±l ukSdj'kkgh dh yky iQhrk'kkgh dks c<+krk gSA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%

	 (a)	 2 vkSj 4

	 (b)	 2 vkSj 3

	 (c)	 1, 2 vkSj 3

	 (d)	 1, 2 vkSj 3

	121.	 Match List-I with List-II and choose the correct answer 
using the codes given below the lists: 

		  List-I 		  List-II 

		  (State) 		�  (Rank according to 
e x p e n d i t u r e  o n 
infrastructure 2019-23)

	 A.	 Maharashtra	 1.	 First 

	 B.	 Uttar Pradesh	 2.	 Second

 	 C.	 Tamil Nadu	 3.	 Third

	 D.	 Karnataka	  4.	 Fourth 

		  Codes: 
		  A	 B	 C	 D

	 (a)	 1	 2	 3	 4

	 (b)	 2	 1	 3	 4

	 (c)	 4	 1	 2	 3

	 (d)	 2	 3	 1	 4

	122.	 Given below are two statements, one is labelled as Assertion 
(A) and the other as Reason (R). 

		  Assertion (A): Article 352 of the Indian Constitution deals 
with the declaration of an emergency. 

		  Reason (R): An emergency may take place at any time. 

		  Select the correct answer from the codes given below: 
	 (a)	 Both (A) and (R) are true, but (R) is not the correct 

explanation of (A). 

	 (b)	 (A) is false, but (R) is true. 

	 (c)	 Both (A) and (R) are true and (R) is the correct 
explanation of (A). 

	 (d)	 (A) is true, but (R) is false. 

	123.	 Which of the following statements are correct regarding 
ICT based e-Governance? 

	 1.	 e-Governance reduces the transparency of Government. 

	 2.	 e-Governance reduces the cost of Government.

	 3.	 e-Governance increases citizens input into Government. 

	 4.	 e-Governance increases bureaucratic red tapism.

		  Select the correct answer from the codes given below: 
	 (a)	 2 and 4 

	 (b)	 2 and 3 

	 (c)	 1, 2 and 3 

	 (d)	 2, 3 and 4 
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	124.	 la?k yksd lsok vk;ksx dks fuEufyf•r esa ls fdl lzksr@fdu 
lzksrksa ls dk;Z&'kfDr;k¡ çkIr gksrh gS@gSa\

	 1.	 lafoèkku
	 2.	 lalnh; dkuwu
	 3.	 dk;Zdkjh fu;e vkSj vkns'k
	 4.	 ijEijk,¡
		 uhps fn, x, dwV esa ls lgh mÙkj pqfu, %
	 (a)	 1 vkSj 2
	 (b)	 1 vkSj 3
	 (c)	 dsoy 1
	 (d)	 1, 2, 3 vkSj 4

	125.	 fuEufyf•r esa ls dkSu&lk ,d lgh lqesfyr gS\
		 lkafoèkkfud fudk;		  lkafoèkkfud vuqPNsn
	 (a)	 fuokZpu vk;ksx	 –	 165
	 (b)	 jk"Vªh; vuqlwfpr tkfr vk;ksx	–	 148
	 (c)	 foÙk vk;ksx	 –	 263
	 (d)	jk"Vªh; fiNM+k oxZ vk;ksx	 –	 34
	126.	 fuEufyf[kr ds lgh dkykuqozQe dh igpku dhft,%
	 1.	 'kadjh izlkn cuke Hkkjrh; la?k
	 2.	 lTtu flag cuke jktLFkku jkT;
	 3.	 xksydukFk cuke iatkc jkT;
	 4.	 ds'kokuan Hkkjrh cuke dsjy jkT;

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 1, 4, 3, 2
	 (b)	 3, 2, 1, 4
	 (c)	 1, 2, 3, 4
	 (d)	 3, 4, 2, 1
	127.	 la'kksèkuksa dk muds dk;kZUo;u ds o"kZ ls feyku dhft;s%
	 A.	 42ok¡ la'kksèku	 1.	 1985
	 B.	 52ok¡ la'kksèku	 2.	 2011
	 C.	 86ok¡ la'kksèku	 3.	 1976
	 D.	 96ok¡ la'kksèku	 4.	 2002
		 dwV %
		  A	 B	 C	 D
	 (a)	 2	 1	 3	 4
	 (b)	 4	 3	 2	 1
	 (c)	 1	 2	 3	 4
	 (d)	 3	 1	 4	 2

	128.	 lwph-I dks lwph&II ls lqesfyr dhft, vkSj lwfp;ksa ds uhps 
fn, x, dwV dk ç;ksx dj lgh mÙkj pqfu,%

		 lwph-I		  lwph-II
	 A.	 lgdkjh la?kokn	 1.	 ds-lh- Ogs;j
	 B.	 lkSnsckth la?kokn	 2.	 vkboj tsfuaXl
	 C.	 vèkZ la?kokn	 3.	 eksfjl&tksUl
	 D.	 dsnzhdj.k dh izo`fÙk	 4.	 xzSufoy vkWfLVu

	124.	 The UPSC derives its functions from which of the following 
sources? 

	 1.	 The Constitution 
	 2.	 Parliamentary Laws 
	 3.	 Executive Rules and Orders 
	 4.	 Conventions 
		  Select the correct answer from the codes given below: 
	 (a)	 1 and 2 
	 (b)	 1 and 3 
	 (c)	 Only 1 
	 (d)	 1, 2, 3 and 4 
	125.	 Which one of the following is correctly matched? 

Constitutional Body Constitutional 
Article 

(a) Election Commission – 165  
(b) National Commission 

for Scheduled Castes 
– 148 

(c) Finance Commission – 263 
(d) National Commission 

for Backward Classes 
– 340 

	126.	 Identify the correct chronological sequence of the 
following: 

	 1.	 Shankari Prasad vs. Union of India
	 2.	 Sajjan Singh vs. State of Rajasthan 
	 3.	 Golaknath vs. State of Punjab 
	 4.	 Kesavananda Bharati vs. State of Kerala 
		  Select the correct answer from the codes given below: 
	 (a)	 1, 4, 3, 2 
	 (b)	 3, 2, 1, 4 
	 (c)	 1, 2, 3, 4 
	 (d)	 3, 4, 2, 1 
	127.	 Match the Amendments with their year of implementation: 
	 A.	 42nd Amendment	 1.	 1985 
	 B.	 52nd Amendment	 2.	 2011 
	 C.	 86th Amendment	 3.	 1976 
	 D.	 96th Amendment	 4.	 2002 
		  Select the correct answer from the codes given below: 
		  A	 B	 C	 D
	 (a)	 2	 1	 3	 4
	 (b)	 4	 3	 2	 1
	 (c)	 1	 2	 3	 4
	 (d)	 3	 1	 4	 2
	128.	 Match List-I with List-II and choose the correct answer 

using the codes given below the lists: 
		  List-I		  List-II
	 A.	 Cooperative Federalism	 1. 	 K.C. Wheare 
	 B.	 Bargaining Federalism	 2.	 Ivor Jennings 
	 C.	 Quasi Federalism	 3.	 Morris-Jones 
	 D.	 Federalism with	 4.	 Granville Austin
		  Centralising Tendency 
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		 dwV %
		  A	 B	 C	 D
	 (a)	 2	 4	 3	 1
	 (b)	 2	 1	 4	 3
	 (c)	 4	 3	 1	 2
	 (d)	 3	 2	 4	 1

	129.	 cyoar jk; esgrk lfefr }kjk vuq'kaflr f=k&Lrjh; iapk;rh jkt 
esa fuEufyf•r esa ls dkSu&lk ,d Lrj ugha gS\

	 (a)	 iapk;r lfefr
	 (b)	 xzke iapk;r
	 (c)	  ftyk iapk;r
	 (d)	 U;k; iapk;r

	130.	 yksdiky vkSj yksdk;qDr vfèkfu;e] 2013 ds vuqlkj] yksdiky 
dh fu;qfDr jk"Vªifr }kjk ,d p;u lfefr dh fliQkfj'ksa çkIr 
djus ds ckn dh tk,xh] ftlds vè;{k çèkku ea=kh gksaxs rFkk 
ftlesa vU; yksxksa ds vykok] fuEufyf•r 'kkfey gksaxs %

	 1.	 Hkkjr ds eq[; U;k;kèkh'k ;k muds }kjk ukefufnZ"V mPpre 
U;k;ky; dk dksbZ U;k;kèkh'k

	 2.	 jkT; lHkk ds lHkkifr

	 3.	 yksd lHkk vè;{k

	 4.	 yksd lHkk esa foi{k dk usrk

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu, %
	 (a)	 1] 2 vkSj 3

	 (b)	 2] 3 vkSj 4

	 (c)	 1] 2] 3 vkSj 4

	 (d)	 1] 3 vkSj 4

	131.	 dk¡xzsl lks'kfyLV ikVhZ ds lUnHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft,%

	 1.	 tuojh 1934 esa dk¡xzsl lks'kfyLV ikVhZ dk xBu fd;k x;kA

	 2.	 lektokn ls lgkuqHkwfr gksus ds dkj.k vkSipkfjd :i esa 
tokgjyky usg: bl ny esa 'kkfey gq,A

		 mi;ZqDr esa ls dkSu&lk@ls dFku lgh gS@gSa\
	 (a)	 1 vkSj 2 nksuksa

	 (b)	 u rks 1 u gh 2
	 (c)	 dsoy 1

	 (d)	 dsoy 2

	132.	 fuEufyf•r ?kVukvksa ij fopkj dhft, rFkk bUgsa dkykuqØe esa 
O;ofLFkr dhft,%

	 1.	 vcqy iQty dh gR;k

	 2.	 'ks• eqckjd dh e`R;q

	 3.	 iQSth dh e`R;q

	 4.	 nfu;ky dh e`R;q

		  Codes: 
		  A	 B	 C	 D

	 (a)	 2	 4	 3	 1

	 (b)	 2	 1	 4	 3

	 (c)	 4	 3	 1	 2

	 (d)	 3	 2	 4	 1

	129.	 Which one of the following is not a level in the three-tier 
Panchayati Raj recommended by Balwant Rai Mehta 
Committee? 

	 (a)	 Panchayat Samiti 
	 (b)	 Gram Panchayat 
	 (c)	 Zilla Panchayat 
	 (d)	 Nyaya Panchayat 

	130.	 According to the Lokpal and Lokayuktas Act, 2013 the 
Lokpal would be appointed by the President after obtaining 
the recommendations of a Selection Committee, with the 
Prime Minister as chairperson and consisting, among 
others, of the following: 

	 1.	 Chief Justice of India or a Supreme Court Judge 
nominated by him 

	 2.	 Chairman of the Rajya Sabha 
	 3.	 Speaker of the Lok Sabha 
	 4.	 Leader of Opposition in the Lok Sabha 

		  Select the correct answer from the codes given below: 
	 (a)	 1, 2 and 3 
	 (b)	 2, 3 and 4 
	 (c)	 1, 2, 3 and 4 
	 (d)	 1, 3 and 4 

	131.	 Consider the following statements with reference to the 
Congress Socialist Party: 

	 1.	 The Congress Socialist Party was formed in January 
1934.

	 2.	 Jawaharlal Nehru formally joined this party due to his 
sympathy for socialism. 

		  Which of the above statements is/are correct? 
	 (a)	 Both 1 and 2	 (b)	 Neither 1 nor 2
 	 (c)	 Only 1	 (d)	 Only 2 

	132.	 Consider the following events and arrange them in 
chronological order: 

	 1.	 Murder of Abul Fazl 
	 2.	 Death of Sheikh Mubarak 
	 3.	 Death of Faizi 
	 4.	 Death of Daniyal 
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		 uhps fn, x, dwV esa ls lgh mÙkj pqfu, %
	 (a)	 2, 1, 4, 3
	 (b)	 3, 2, 1, 4
	 (c)	 2, 3, 1, 4
	 (d)	 2, 4, 3, 4

	133.	 fuEufyf•r ?kVukvksa ij fopkj dhft, rFkk bUgsa dkykuqØe esa 
O;ofLFkr dhft,%

	 1.	 fyufyFkxks dk vxLr çLrko
	 2.	 fØIl fe'ku dks Hkkjr vkxeu
	 3.	 jkex<+ dk¡xzsl vfèkos'ku
	 4-	dk¡xzslh eaf=k;ksa ds R;kx i=k

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 3, 1, 4, 2
	 (b)	 4, 3, 1, 2
	 (c)	 1, 3, 4, 2
	 (d)	 4, 2, 3, 1

	134.	 lwph-I dks lwph&II ls lqesfyr dhft, vkSj lwfp;ksa ds uhps 
fn, x, dwV dk ç;ksx dj lgh mÙkj pqfu,%

		 lwph-I		  lwph-II
		 (IkqLrd)		  (ys[kd)
	 A.	 fgUnw ikWfyVh	 1.	 Mh-Mh- dkslkEch
	 B.	 n oaMj nSV okt bafM;k	 2.	 ,-,y-ck'ke
	 C.	 ,su baMªksD'ku Vw n LVMh	 3.	 ds-ih- tk;loky
	 D.	 n vyhZ fgLVªh vkWiQ bafM;k	 4.	 foalsaV vkFkZj fLeFk

		 dwV %
		  A	 B	 C	 D
	 (a)	 3	 2	 4	 1
	 (b)	 1	 2	 4	 3
	 (c)	 3	 2	 1	 4
	 (d)	 1	 2	 3	 4

	135.	 uhps nks dFku fn, x, gSa] ftuesa ls ,d dks vfHkdFku (A) 
rFkk nwljs dks dkj.k (R) dgk x;k gSA

		 vfHkdFku (A)% izkjafHkd jk"Vªokfn;ksa esa ls vfèkdka'k dks fczfV'k 
jkt bZ'ojh; nsu yxrk Fkk ftldk mís'; vkèkqfudhdj.k ykuk 
FkkA

		 dkj.k (R)% mudh f'kdk;r dsoy Hkkjr esa ¶vu&fczfV'k jkt¸ 
ds f[kykiQ FkhA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu, %
	 (a)	 (A) rFkk (R) nksuksa lgh gSa] fdUrq (R)] (A) dh lgh 

O;k[;k ugha djrk gSA
	 (b)	 (A) xyr gS] fdUrq (R) lgh gSA
	 (c)	 (A) rFkk (R) nksuksa lgh gSa vkSj (R)] (A) dh lgh O;k[;k 

djrk gSA
	 (d)	 (A) lgha gS] fdUrq (R) xyr gSA

		  Select the correct answer from the codes given below: 
	 (a)	 2, 1, 4, 3 
	 (b)	 3, 2, 1, 4 
	 (c)	 2, 3, 1, 4 
	 (d)	 2, 4, 3, 1 
	133.	 Consider the following events and arrange them in 

chronological order: 
	 1.	 Linlithgow August Offer 
	 2.	 Cripps Mission arrival in India 
	 3.	 Ramgarh Congress Session 
	 4.	 Resignation letters of Congress Ministers 
		  Select the correct answer from the codes given below: 
	 (a)	 3, 1, 4, 2 
	 (b)	 4, 3, 1, 2 
	 (c)	 1, 3, 4, 2 
	 (d)	 4, 2, 3, 1 
	134.	 Match List-I with List-II and choose the correct answer 

using the codes given below the lists: 
		  List-I		  List-II 
		  (Book)		  (Writer)
	 A.	 Hindu Polity 	 1.	 D.D. Kosambi 
	 B.	 The Wonder That Was	 2.	 A.L. Basham India 
	 C.	 An Introduction to the	 3.	 K.P. Jayaswal
		  Study of Indian History
	 D.	  The Early History of India	4.	 Vincent Arthur Smith 
		  Codes: 
		  A	 B	 C	 D
	 (a)	 3	 2	 4	 1
	 (b)	 1	 2	 4	 3
	 (c)	 3	 2	 1	 4
	 (d)	 1	 2	 3	 4

	135.	 Given below are two statements, one is labelled as Assertion 
(A) and the other as Reason (R). 

		  Assertion (A): Most of the early nationalists considered 
British rule as an act of providence destined to bring 
modernisation. 

		  Reason (R): They complained only against "Un-British 
rule" in India. 

		  Select the correct answer from the codes given below: 
	 (a)	 Both (A) and (R) are true, but (R) is not the correct 

explanation of (A). 
	 (b)	 (A) is false, but (R) is true. 
	 (c)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A)	
	 (d)	 (A) is true, but (R) is false. 
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	136.	 fofy;e ,-ts- vkdZcksYM ds lUnHkZ esa fuEufyf•r esa ls dkSu&lk 
,d dFku lgh ugha gS\

	 (a)	 os jktdh; dkWyst] <kdk ds çkpk;Z FksA

	 (b)	 os ykgkSj dkWyst] ykgkSj ds çkpk;Z FksA

	 (c)	 os ,e-,-vks- dkWyst] vyhx<+ ds çkpk;Z FksA

	 (d)	 os Ecksj lsUVªy dkWyst] bykgkckn ds çkpk;Z FksA

	137.	 fuEufyf•r ?kVukvksa ij fopkj dhft, rFkk bUgsa çkjaHk ls 
dkyØekuqlkj O;ofLFkr dhft,%

	 1.	 osYyksj foæksg
	 2.	 ukuk iQM.kohl dh e`R;q

	 3.	 csystyh dks okil cqykuk

	 4.	 ,aXyks&usikyh ;q¼

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu, %
	 (a)	 2, 3, 1, 4
	 (b)	 4, 1, 3, 2
	 (c)	 2, 3, 4, 1
	 (d)	 3, 1, 2, 4

	138.	 lwph-I dks lwph& II ls lqesfyr dhft, vkSj lwfp;ksa ds uhps 
fn, x, dwV dk ç;ksx dj lgh mÙkj pqfu,%

		 lwph-I		  lwph-II
		 (fonzksg)		  (usr`RodrkZ)

	 A.	 ikbdk fonzksg	 1.	 ,Mkpuk dqaxu

	 B.	 cjsyh fonzksg	 2.	 jkèkkjke
	 C.	 ekykckj fonzksg	 3.	 eqÝrh eksgEen ,sok”k
	 D.	 flygV fonzksg	 4.	 txcaèkq fo|kèkj egkik=k

		 dwV %
		  A	 B	 C	 D
	 (a)	 4	 3	 1	 2
	 (b)	 3	 4	 1	 2
	 (c)	 3	 2	 1	 4
	 (d)	 2	 1	 3	 4

	139.	 fuEufyf[kr fnolksa ij fopkj dhft;s vkSj bUgsa dkykuqozQe esa 
O;ofLFkr dhft;s%

	 1.	 fo'o LokLF; fnol
	 2.	 jk"Vªh; leqnzh fnol
	 3.	 fo'o ,FkysfVDl fnol
	 4.	 fo'o jsM ozQkWl fnol

		 uhps fn, x, dwV esa lgh mÙkj pqfu,%
	 (a)	 4, 2, 3, 1
	 (b)	 2, 1, 3, 4
	 (c)	 2, 3, 4, 1
	 (d)	 3, 2, 1, 4

	136.	 Which one of the following statements is not correct about 
William A.J. Archbold? 

	 (a)	 He was the Principal of Government College, Dacca. 
	 (b)	 He was the Principal of Lahore College, Lahore. 
	 (c)	 He was the Principal of MAO College, Aligarh.
	 (d)	 He was the Principal of the Muir Central College, 

Allahabad 
	137.	 Consider the following eyents and arrange them in 

chronological order starting from the earliest : 
	 1.	 Vellore Mutiny 
	 2.	 Death of Nana Fadnavis 
	 3.	 Recall of Wellesley 
	 4.	 Anglo-Nepalese War 
		  Select the correct answer from the codes given below: 
	 (a)	 2, 3, 1, 4 
	 (b)	 4, 1, 3, 2 
	 (c)	 2, 3, 4, 1 
	 (d)	 3, 1, 2, 4 
	138.	 Match List-I with List-II and choose the correct answer 

using the codes given below the lists: 
		  List-I		  List-II
		  (Revolt)		  (Leader) 
	 A.	 Paika Revolt	 1.	 Edachena Kungan  
	 B.	 Bareilly Revolt	 2.	 Radharam  
	 C.	 Malabar Revolt	 3.	� Muf t i  Muhammad 

Aiwaz  
	 D.	 Sylhet Revolt	 4.	� Jagabandhu Bidyadhar 

Mahapatra 
		  Codes: 
		  A	 B	 C	 D
	 (a)	 4	 3	 1	 2
	 (b)	 3	 4	 1	 2
	 (c)	 3	 2	 1	 4
	 (d)	 2	 1	 3	 4

	139.	 Consider the following days and arrange them in 
chronological order: 

	 1.	 World Health Day 
	 2.	 National Maritime Day 
	 3.	 World Athletics Day 
	 4.	 World Red Cross Day 
		  Select the correct answer from the codes given below: 
	 (a)	 4, 2, 3, 1 
	 (b)	 2, 1, 3, 4 
	 (c)	 2, 3, 4, 1 
	 (d)	 3, 2, 1, 4 
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	140.	 lwph-I dks lwph-II ls lqesfyr dhft, vkSj lwfp;ksa ds uhps fn, 
x, dwV dk ç;ksx dj lgh mÙkj pqfu,%

lwph-I lwph-II

(iqjLdkj) (izkIrdrkZ)
A. vk;ZHkV~V iqjLdkj] 2024 1. vferkHk cPpu
B. fo'o lkfgR; iqjLdkj] 

2024

2. eerk th- lkxj

C. yrk nhukukFk eaxs'kdj 
iqjLdkj] 2024

3. MkW- lqCck jko ioqyqjh

D. x k s YMe S u i; k Z o j . k 
iqjLdkj] 2024

4. vkyksd 'kqDyk

		 dwV %
	 A	 B	 C	 D
	 (a)	 3	 2	 1	 4
	 (b)	 3	 2	 4	 1
	 (c)	 4	 2	 1	 3
	 (d)	 2	 3	 1	 4

	141.	 lwph-I dks lwph& II ls lqesfyr dhft, vkSj lwfp;ksa ds uhps 
fn, x, dwV dk ç;ksx dj lgh mÙkj pqfu,%

		 lwph-I		  lwph-II
		 (foVkfeu)		  (jksx)
	 A.	 foVkfeu A	 1.	 csjhcsjh
	 B.	 foVkfeu B	 2.	 vaèkkiu
	 C.	 foVkfeu C	 3.	 fjdsV~l
	 D.	 foVkfeu D	 4.	 LdohZ

		 dwV %
		  A	 B	 C	 D
	 (a)	 4	 3	 2	 1
	 (b)	 2	 1	 4	 3
	 (c)	 1	 2	 3	 4
	 (d)	 1	 3	 2	 4

	142.	 Hkk"kk;h vYila[;dksa ds fy;s fo'ks"k vfèkdkjh ds lUnHkZ esa 
fuEufyf•r dFkuksa ij fopkj dhft,%

	 1.	 lafoèkku esa] çR;sd jkT; gsrq Hkk"kk;h vYila[;dksa ds fy;s 
fo'ks"k vfèkdkjh ds in dk çkoèkku fd;k x;k gSA

	 2.	 9osa lafoèkku la'kksèku vfèkfu;e }kjk blds fy;s ,d u;k 
vuqPNsn 350B tksM+k x;kA

		 mi;ZqDr esa ls dkSu&lk@ls dFku lgh gS@gSa\
	 (a)	 dsoy 2
	 (b)	 u rks 1 u gh 2
	 (c)	 dsoy 1
	 (d)	 1 vkSj 2 nksuksa

	140.	 Match Lis-t-I with List-II and choose the correct answer 
using the codes given below the lists: 

		  List-I		  List-II
		  (Award)	  	 (Recipient) 
	 A.	 Aryabhatta Award, 2024	 1.	 Amitabh Bachchan 
	 B.	 World Literary Prize, 2024	2.	 Mamta G. Sagar 
	 C.	 Lata Deenanath	 3.	 Dr. Subba Rao Pavuluri
		  Mangeshkar Award, 2024 
	 D.	 Goldman Environmental	 4.	 Alok Shukla
		  Prize, 2024 

		  Codes: 
		  A	 B	 C	 D

	 (a)	 3	 2	 1	 4

	 (b)	 3	 2	 4	 1

	 (c)	 4	 2	 1	 3

	 (d)	 2	 3	 1	 4

	141.	 Match List-I with List-II and choose the correct answer 
using the codes given below the lists: 

		  List-I		  List-II 
		  (Vitamin)		  (Disease) 
	 A.	 Vitamin A 	 1.	 Beriberi 
	 B.	 Vitamin B 	 2.	 Blindness 
	 C.	 Vitamin C 	 3.	 Rickets 
	 D.	 Vitamin D 	 4.	 Scurvy 

		  Codes: 
		  A	 B	 C	 D

	 (a)	 4	 3	 2	 1

	 (b)	 2	 1	 4	 3

	 (c)	 1	 2	 3	 4

	 (d)	 1	 3	 2	 4

	142.	 Consider the following statements with reference to Special 
Officer for Linguistic Minorities : 

	 1.	 In the Constitution, there is a provision for the post of 
Special Officer for Linguistic Minorities for every 
State. 

	 2.	 A new Article 350 B was added for this by the 9th 
Constitution Amendment Act. 

		  Which of the above statements is/are correct? 
	 (a)	 Only 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1 
	 (d)	 Both 1 and 2 
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	143.	 Hkkjrh; lafoèkku dh leorhZ lwph esa 'kkfey gS@gSa%
	 1.	 O;kikj ,oa okf.kT;
	 2.	 lkekuksa esa feykoV
	 3.	 mÙkjkfèkdkj

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 1 vkSj 3
	 (b)	 1] 2 vkSj 3
	 (c)	 dsoy 1
	 (d)	  2 vkSj 3

	144.	 iQkfrek choh dk gky gh esa fuèku gqvkA muds ckjs esa fuEufyf•r 
dFkuksa ij fopkj dhft,%

	 1.	 og Hkkjr ds lokZsPp U;k;ky; dh igyh efgyk U;k;kèkh'k 
FkhA

	 2.	 mUgksaus 1997-2001 rd dsjy jkT; ds jkT;iky ds :i esa 
lsok,¡ Hkh nhaA

	 3.	 og mPprj U;k;ikfydk rd igq¡pus okyh igyh eqfLye 
efgyk FkhA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 1 vkSj 2	 (b)	 1 vkSj 3
	 (c)	 dsoy 1	 (d)	 1] 2 vkSj 3

	145-	¶jk"Vªh; ckSf¼d lEink vfèkdkj uhfr¸ ds lUnHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft,%

	 1-	;g nksgk fodkl ,tsUMk vkSj fVªIl le>kSrs ds çfr Hkkjr 
dh çfrc¼rk dks nksgjkrk gSA

	 2-	vkS|ksfxd uhfr vkSj laoèkZu foHkkx] Hkkjr esa ckSf¼d lEink 
vfèkdkjksa ds fofu;eu djus ds fy;s dsaæd vfHkdj.k gSA

		 mi;ZqDr esa ls dkSu&lk@ls dFku lgh gS@gSa\
	 (a)	 dsoy 2	 (b)	 u rks 1 u gh 2
	 (c)	 dsoy 1	 (d)	 1 vkSj 2 nksuksa

	146.	 dkSu&lk la'kksèku vfèkfu;e Hkkjr esa LFkkuh; 'kklu laLFkkvksa 
ls lacafèkr gS\

	 (a)	 63ok¡ vkSj 64ok¡ la'kksèku vfèkfu;e
	 (b)	 86ok¡ vkSj 87ok¡ la'kksèku vfèkfu;e
	 (c)	 42ok¡ vkSj 43ok¡ la'kksèku vfèkfu;e
	 (d)	 73ok¡ vkSj 74ok¡ la'kksèku vfèkfu;e

	147.	 lwph-I dks lwph&II ls lqesfyr dhft, vkSj lwfp;ksa ds uhps 
fn, x, dwV dk ç;ksx dj lgh mÙkj pqfu,%

		 lwph-I		  lwph-II
		 (ys[kd)		  (iqLrd)
	 A.	 yYyuth xksiky	 1.	� v dafizgsaflo fgLVªh vkWiQ 

bafM;k % n fnYyh lYrur
	 B.	 gchc ,oa fu”kkeh	 2.	� n bdksukWfed ykbd vkWiQ 

ukWFkZuZ bafM;k

	143.	 The Concurrent list of the Indian Constitution includes: 
	 1.	 Trade and Commerce 
	 2.	 Adulteration of Goods 
	 3.	 Succession 
		  Select the correct answer from the codes given below: 
	 (a)	 1 and 3 
	 (b)	 1, 2 and 3 
	 (c)	 Only 1 
	 (d)	 2 and 3 
	144.	 Fathima Beevi died recently. Consider the following 

statements regarding her : 
	 1.	 She was the first woman judge of the Supreme Court 

of India. 
	 2.	 She served as the Governor of Kerala from 1997-2001. 
	 3.	 She was the first Muslim woman to enter into higher 

judiciary. 
		  Select the correct answer from the codes given below: 
	 (a)	 1 and 2 
	 (b)	 1 and 3 
	 (c)	 Only 1 
	 (d)	 1, 2 and 3 
	145.	 With reference to the “National Intellectual Property Rights 

Policy” consider the following statements:
	 1.	 It reiterates India's commitment to Doha Development 

Agenda and the TRIPS agreement.
	 2.	 Department of Industrial Policy and Promotion is the 

nodal agency for regulating Intellectual Property Rights 
in India. 

		  Which of the above statements is/are correct? 
	 (a)	 Only 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1 
	 (d)	 Both 1 and 2 
	146.	 Which Amendment Acts deal with Local Governance 

Institutions in India? 
	 (a)	 63rd and 64th Amendment Acts 
	 (b)	 86th and 87th Amendment Acts 
	 (c)	 42nd and 43rd Amendment Acts 
	 (d)	 73rd and 74th Amendment Acts 
	147.	 Match List-I with List-II and choose the correct answer 

using the codes given below the lists: 
		  List-I 		  List-II 
		  (Author)		  (Book) 
	 A. 	Lallanji Gopal	 1.	� A Comprehens ive 

History of India : The 
Delhi Sultanat 

	 B.	 Habib and Nizami 	 2.	� The Economic Life of 
Northern India 
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	 C.	 ds-,l- yky	 3.	 vyhZ pkSgku MkbusLVh”k
	 D.	 n'kjFk 'kekZ	 4.	 fgLVªh vkWiQ n [kyth”k

		 dwV %
		  A	 B	 C	 D
	 (a)	 2	 1	 4	 3
	 (b)	 1	 2	 3	 4
	 (c)	 4	 3	 2	 1
	 (d)	 3	 4	 1	 2

	148.	 fuEufyf•r dFkuksa ij fopkj dhft,%
	 1.	 fcgkj esa txnh'kiqj ds tehankj] dq¡oj flag us vaxzstksa ds 

fo#¼ foæksg dk usr`Ro fd;kA
	 2.	 ykWMZ MygkSth us jkuh y{eh ckbZ ds nÙkd iq=k dks mÙkjkfèkdkjh 

gksus dh ekU;rk çnku dhA
		 mi;ZqDr esa ls dkSu&lk@ls dFku lgh gS@gSa\
	 (a)	 dsoy 2
	 (b)	 u rks 1 u gh 2
	 (c)	 dsoy 1
	 (d)	 1 vkSj 2 nksuksa

	149.	 fuEufyf•r fons'kh ;kf=k;ksa ij fopkj dhft, rFkk mUgsa vkjksgh 
dkyØekuqlkj O;ofLFkr dhft, %

	 1.	 bfRlax
	 2.	 vy&c#uh
	 3.	 Þosu Rlkax
	 4.	 iQkáku

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 1, 2, 3, 4
	 (b)	 4, 3, 1, 2
	 (c)	 2, 1, 4, 3
	 (d)	 3, 4, 2, 1

	150.	 uhps nks dFku fn, x, gSa] ftuesa ls ,d dks vfHkdFku (A) 
rFkk nwljs dks dkj.k (R) dgk x;k gSA

		 vfHkdFku  (A)% cycu us vius 'kklu dks lqn`<+ cuk;k vkSj 
lEiw.kZ lÙkk dks vius gkFkksa esa dsfUær dj fy;kA

		 dkj.k (R): og mÙkj&if'pe lhek dks eaxksy vkØe.kksa ls 
lqjf{kr djuk okgrk FkkA

		 uhps fn, x, dwV esa ls lgh mÙkj pqfu,%
	 (a)	 (A) rFkk (R) nksuksa lgh gSa vkSj (R)] (A) dh lgh O;k[;k 

djrk gSA
	 (b)	 (A) xyr gS] fdUrq (R) lgh gSA
	 (c)	 (A) rFkk (R) nksuksa lgh gSa] fdUrq (R)] (A) dh lgh 

O;k[;k ugha djrk gSA
	 (d) 	(A) lgh gS] fdUrq (R) xyr gSA

	 C.	 K.S. Lal	 3.	� E a r l y  C h a u h a n 
Dynasties 

	 D.	 Dasharatha Sharma 	 4.	� History of the Khaljis 

		  Codes: 
		  A	 B	 C	 D

	 (a)	 2	 1	 4	 3

	 (b)	 1	 2	 3	 4

	 (c)	 4	 3	 2	 1

	 (d)	 3	 4	 1	 2

	148.	 Consider the following statements: 
	 1.	 Kunwar Singh, Landlord of Jagdishpur in Bihar, led 

the rebellion against the British. 
	 2.	 Lord Dalhousie recognised the adopted son of Rani 

Lakshmi Bai as the heir apparent. 

		  Which of the above statements is/are correct? 
	 (a)	 Only 2 
	 (b)	 Neither 1 nor 2 
	 (c)	 Only 1 
	 (d)	 Both 1 and 2 

	149.	 Consider the following foreign travellers and arrange them 
in ascending chronological order: 

	 1.	 I-Tsing 
	 2.	 Al-Biruni
	 3.	  Huentsang (Hiuen Tsang) 
	 4.	 Fahyan (Fa-Hien) 

		  Select the correct answer from the codes given below: 
	 (a)	 1, 2, 3, 4 
	 (b)	 4, 3, 1, 2 
	 (c)	 2, 1, 4, 3 
	 (d)	 3, 4, 2, 1 

	150.	 Given below are two statements, one is labelled as Assertion 
(A) and the other as Reason (R). 

	 	 Assertion (A): Balban made his government firm and 
centralised all authority in his hands. 

		  Reason (R): He wanted to protect the north-west frontier 
against Mongol invasions. 

		  Select the correct answer from the codes given below: 
	 (a)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A). 
	 (b)	 (A) is false, but (R) is true. 
	 (c)	 Both (A) and (R) are true, but (R) is not the correct 

explanation of (A). 
	 (d)	 (A) is true, but (R) is false. 
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